+ Artitech

Air springs

e i

R T
o UL LR
ot |

“TEE = e £ i '.‘,,.‘_-,_'.'\"."l.-.'-ll
" il | ! foa !}.jﬁ!‘ﬂgi!a_ﬂ-l!':yl

AIR SPRINGS

METAL COMPLETE AIR SPRINGS
COMPLETE PLASTIC PISTON
SERVICE ASSEMBLY

BELLOWS AIR SPRINGS

ALUMINUM COMPLETE AIR SPRINGS

www.artitechautomotive.com



ABOUT US

IndeXx

METAL COMPLETE AIR SPRINGS 05
COMPLETE PLASTIC PISTON 10
SERVICE ASSEMBLY 25
BELLOWS AIR SPRINGS 28
ALUMINUM COMPLETE AIR SPRINGS 60

+ Artitech

Air springs




ABOUT US

Metal Complete Complete Plastic Service
Air Springs Piston Assembly

Bellows Air Aluminum Complete
Springs Air Springs

www.artitechautomotive.com



ABOUT US

FOR
FUTURE

GENERATIONS

ARTITECH Automotive was established in 2018 in
BURSA / Kayapa Organized Industrial Zone and
entered the sector with the target of 500.000
Units / Year Installed Capacity with High Pres-
sure Steam Technology in a closed area of
approximately 4,000 M2. Its distinctive feature is
designed and manufactured with the latest
technology  of industry-specific  special
machines. In addition, because the main input
of the production consists of rubber and its
derivatives, climatic storage space is available

for these materials.

It has ISO 9001-2015 quality certificate and IATF
16949 - 2016 studies are continuing. It offers its
products to its customers with OEM quality
level, timely shipment, dynamic and expert staff.
[t has ISO 14001 environmental certification in
order to fulfill its responsibilities for future gen-
erations. With its own laboratory, advanced
testing techniques and expert staff can perform
the following control, development and finished
product performance tests.

+ Artitech

Air springs

our mission,

Our experience in the field of suspension
systems and technological developments with
the ability to apply our quality products contin-
uously developed by offering our customers,
society, environment and contribute to the
national economy, is to become a respected
and global brand.

our vision,

Our aim is to be a company which is among the
world leaders in the sector by determining the
agenda in the market and competition by
meeting the customer expectations, sought,
trusted, exemplary and aiming to develop con-
tinuously in the automotive sector.




ABOUT US

CERTIFICATE

CERTIFICATE  wscommcmm CERTIFICATE

ARTITECH GTOMOTIY
SANAYEVE TICARET LIMITED SIRKETI

ARTITECH OTOMOTIY
SANAYIVE TICARET LIMITED SIRKETI

BATAR HAAL S UL P AT, S

ARTITECH OTOMOTIY
SANAYI VE TICARET LiMbveED slrewerl

www.artitechautomotive.com



ABOUT US

i EEEE | ) || |
Ili!ﬁ SN NN GEERRE

---1 W Lk

f;mﬁi

mi".

Artitech

Air springs

EuEEL |
| q.lll-.' i

oy

O ‘”f: i
ﬁ‘l‘ \ i




ABOUT US

THE COMPONENTS
OF AIR SPRING

The Components of Air Srings

1.Stud:
A conneting element that attaches the air
spring to the chasis.

2.Combo Stud:
Combination mounting air spring to the
chasis and air fitting.

3.Bead Plate:
A metal part that connects the top side of
the air spring to the chasis.

4.Bellows:
The main part of an air spring that made of
rubber, absorbs vibration by pressing air.

Artitech

Air springs

5.Bumper:

A safety part that prevents damage of the
top and bottom metal parts when the air
spring suddenly explodes.

6.Piston:

Connects the air spring to the axle; metal,
plastic and aluminum versions are available
and is set on the bottom of the air spring.

7.Piston Bolt:

A connecting element that provides
mounting of the piston to the rubber
bellow.



METAL

COMPLETE
Alr Springs




Artitech........

CODE

A4.724.CO2

METAL COMPLETE AIR SPRINGS

CROSS REFERENCES

Product Explanation

CODE

CONTITECH 724 N PO2

A4.725.C02

OEM PART NO

GIGANT

Metal Complete Air Springs

166259

CF GOMMA
CONTITECH
DUNLOP
FIRESTONE
FIRESTONE
PHOENIX
TAURUS

CROSS REFERENCES

Product Explanation

CODE

1TCS 360-45 202964
725N P02

D14U38

1T66F-10.8

WO1 M58 8969
1DF 32

UR836-11

A4.725.C03

O
=
—
o
&
>
L
O

GIGANT
GIGANT

Metal Complete Air Springs

166217
246149

FIRESTONE
FIRESTONE

CROSS REFERENCES

Product Explanation

@ BOLT OR STUD

CONTITECH 725N PO3

1T66F-10.8
WO1 M58 8610

O THREADED HOLE

OEM PART NO

GIGANT

Metal Complete Air Springs

COMBINATION

166 252

& STUD AIR INLET

M22x15-6H

Mi2x1.75-6q(x2>

1912

Product Weight : 10,50 Kg.

Pallet Quantity : 28

] i

Tl
Artitech \
ritech y@ 1
| \\\

[ >
\__/

925845

Me2x15-6H

MBxL75-6a0xe)

30z

188

22,3405

'

1024

Pallet Quantity : 18 Product Weight :12,50 Kg.

emfl
=

vezx15-6H

Mi2x1.75-69(:@)
L

Artlte_ch'“

302

1882

ves6i

Pallet Quantity : 18 Product Weight : 12,50 Kg.

info@artitechautomotive.com | 09
www.artitechautomotive.com



Artitech’.. .o METAL COMPLETE AIR SPRINGS

CODE
A4.810.C

(Lﬁ CF GOMMA  1T19 E-1 O | HENDRICKSON 506243

Q | CFGOMMA 2 87413/1 Z | HENDRICKSON 785168

Z | CONTITECH 810 MB 'E HENDRICKSON B 2065

& | DUNLOPFR D13820 < | ROR 2120 8032 ;

W | DUNLOP UK PNP311780000 O | ROR 21215632 Artitech

w | FIRESTONE  1T19L-7 > | SAFHOLLAND 22280002 00 A

o FIRESTONE ~ WO1 M58 6345 '8 VOLVO 1080 707 1

g; GOODYEAR 1R14-716 WEWELER US 00622 ' //'/ ‘ \\.\

O | PHOENIX 1D 28 A-2 WEWELER Us 07337 g / 1 | eezs-en
0 | TAURUS KR 621-26 YORK 785168 1 i ]

U 9: L \\\ I /’/

5 -

Product Explanation | Metal Complete Air Springs Pallet Quantity : 22 Product Weight :10,50 Kg.
CODE
A4.810.C0O3

n (@) — i
O Z L8

> ._ %

i 4 Artitech %TT
o < i —

E [a

T} >

o L

W @) ,

m M12x1,75-6H-7H(4x)
@)

o 5

o 5

Product Explanation | Metal Complete Air Springs Pallet Quantity : 22 Product Weight : 11,23 Kg.
CODE

A4.810.CO4 i

(I.{J) CONTITECH 4810 N PO4 QO | HENDRICKSON S 2065

Q | FIRESTONE  1T19L-7 Z | R&STRUCKRODY 1090216

E FIRESTONE ~ WO1 358 9177 E SAF HOLLAND Q90557003

o

: 5

(] >

o w

) o

(72]

(@)

a4

Product Explanation | Metal Complete Air Springs Pallet Quantity : 22 Product Weight : 11 Kg.
10 | info@artitechautomotive.com @ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD AIR INLET

www.artitechautomotive.com



Artitech........

CROSS REFERENCES

Product Explanation

CODE

CFGOMMA  1T19 E-2 203878
CONTITECH 811 MB
DUNLOP D13B34
FIRESTONE 1M9L-1
FIRESTONE W01 M58 6359
GOODYEAR  1R14-71

OEM PART NO

DAF
RENAULT RVI

Metal Complete Air Springs

A4.811.CO1

1384 274
5000 745 918

CROSS REFERENCES

Product Explanation

OEM PART NO

Metal Complete Air Springs

CODE
A4.811.C17

& | CONTITECH 811 M16K1
O |DUNLOP  D13B36
Z | FIRESTONE  1T19L-11
& | FIRESTONE W01 M58 6334
i | GOODYEAR 1R14-719
Wi | PHOENIX 1D 28B-7
& | TAURUS KR 622-31
n

)

(@)

&

(@]

Product Explanation

@ BOLT OR STUD

OEM PART NO

DAF

Metal Complete Air Springs

O THREADED HOLE

COMBINATION

0067 306

& STUD AIR INLET

METAL COMPLETE AIR SPRINGS

MIOxL5-69(x3>

M22x15-eH
| Me2xt5-er

Artitec

irsprings

1782

Pallet Quantity : 22 Product Weight :13 Kg.

Meex1.5-6H

Artitech -

M10x1.5-6g(x3>

Airsprings

M12x1,75-6H-7H(x4>

| #200s

178

220041
#260,3e

Pallet Quantity : 22 Product Weight : 11,58 Kg.

meas-af oo .
Mext.5-6H e N

Mi0x125-66(x3)

Artitech

A springs

178z

Pallet Quantity : 22 Product Weight :13 Kg.

info@artitechautomotive.com | 41
www . artitechautomotive.com



Artitech’.. .o METAL COMPLETE AIR SPRINGS

(L{.I’ CONTITECH 813 MB O | FRUEHAUF 003615
() | DUNLOP D13 B19 Z | HENDRICKSON 505859
Z | FIRESTONE  1T19L-11 E HENDRICKSON 785170
E FIRESTONE ~ WO1 M58 6364 < HENDRICKSON B 2063
LIILJ GOODYEAR 1R14-705 O | KASSBOHRER 4731030000
wl | PHOENIX 1D 28 B-2 > | KASSBOHRER 4731033000
& | TAURUS  KR622-26 & | FOR 21215633 ‘
% SAFHOLLAND 22290003 00 R
0 WEWELER ~ US07345 777 T T\ s
o WEWELER  US87408 p ¢ : ;
O g | 1 T
h - ! //
N
Product Explanation | Metal Complete Air Springs Pallet Quantity : 22 Product Weight :12 Kg.
CODE

A4.813.CO1

0 O
O Z
—
. z -
IliJ [a
w >
o L
92} @)
(7]
(@)
o'
o g
Product Explanation | Metal Complete Air Springs Pallet Quantity : 22 Product Weight : 12,00 Kg.
CODE
A4.813.C17
(I.{J’ CF GOMMA  1T19 E-2 O | BARTOLETTI 91619011
Q | FIRESTONE  1T19L-11 Z | CARDI 580 50700 mea-a 0256060
E FIRESTONE ~ WO1 M58 6361 E VIBERTI 128147102
o | GOODYEAR 1R14-706 < | ZORZI 1006553 Artitech
W | PHOENIX  1DK28B-7 =t
(T} >
o Ll
) o g
N F:
®) 7%{ ,
a4 ¥ I
(@] = \\\&
0\\\,
Product Explanation | Metal Complete Air Springs Pallet Quantity : 22 Product Weight : 13,50 Kg.
12 | info@artitechautomotive.com @ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD ARR INLET

www.artitechautomotive.com



Artitech’.. .o METAL COMPLETE AIR SPRINGS

CODE
A4.836.2C1

154

I :

&) | CONTITECH 836 M2K1 O | DAF 0388 167 ? -
O |DUNLOP  D13B31 z %ﬁl

Z | FIRESTONE  1T17AR-45 = .

W | FRESTONE  WO1MS88721 | o Artitech ]
IliJ GOODYEAR  1R12-711 o . FPuna S

w | PHOENIX 11DF 25-13 >

& | TAURUS KR 721-03 w

0 o

S (7o
(@)

o'

G g v |/

= K

Product Explanation | Metal Complete Air Springs Pallet Quantity : 36 Product Weight : 7,80” Kg.
CODE
A4.836.CO1

(Lf} g a258,

©) s

pd = % = | o
1| o .

4 < Artitech %
: R =\

L > e

o Ll

0 O

m MiEx2-6H

o) / -

a'd

© g KJ

) =

Product Explanation | Metal Complete Air Springs Pallet Quantity : 36 Product Weight :7,50 Kg.
CODE
A4.836.C0O5

(I.IG CONTITECH 836 N P05 O | DAF 1152 126 7 H

O Z | VDLBUS 1153933 =9 -
Z —

w o . [ =T

[ < Artitech ﬁ

T >

o (1] #_%—L
19} O

(7p]

o) < A K

m / MIEx2-6H
O

¢ 3\S%)
ﬁ F \\\
Product Explanation | Metal Complete Air Springs Pallet Quantity : 36 Product Weight :10 Kg.
@ BOLTORSTUD O THREADED HOLE COMBINATION @ STUD AIR INLET info@artitechautomotive.com | 13

www.artitechautomotive.com



Artltec h Air springs
CODE
A4.836.C10
) | CONTITECH 836N P10 O | DAF 1794 420
L
O Z
|_
: z
& 5
(T} >
o Ll
193 O
(72]
o
o
(@]
Product Explanation | Metal Complete Air Springs
CODE
A4.836.C14
‘I_ﬁ CONTITECH 836N P14 O | VDL BUS 45015337
O Z | VDL BUS 5015337
Z =
& <
o
E o
L >
o Ll
19} O
(72]
o
o
(@]
Product Explanation | Metal Complete Air Springs
CODE
A4.836.C16
CONTITECH 836 N P06 VDL BUS 1152 221
836 N PO6 VDL BUS 1153934

OEM PART NO

CROSS REFERENCES

Product Explanation | Metal Complete Air Springs

14 | info@artitechautomotive.com
www.artitechautomotive.com

@ BOLT OR STUD

METAL COMPLETE AIR SPRINGS

o258

Artltech‘

135

N

Me2x1.5-6H

aa_w:)!j

|
I
T
} Mi0x15-69x2)

Mi6x2-6H

DED

/

22272

Pallet Quantity : 36

Product Weight : 7,7 Kg.

Artltech‘

£

M22x1.5-6H

1 i
I
I i
b )
Mi6x2-6H

i

_/

#1100

Pallet Quantity : XX

Product Weight : 8,80 Kg.

.

ML0x1.5-6g(x3>

/W]

Pallet Quantity : 36

O THREADED HOLE COMBINATION

Product Weight :9,50Kg.

& STUD AIR INLET



Artitech’.. .o METAL COMPLETE AIR SPRINGS

CODE
A4.836.C50

o [®) [
O zZ s e
l—
2 2
: 5
(T, >
m m U2uM1Ex2-6H
19} O
w u
(@) b |
& B
@ |
I 4
{x\\\\\\n\m;\mn\\\\\\\\\
Product Explanation | Metal Complete Air Springs Pallet Quantity : 36 Product Weight : XX Kg.
CODE
A4.881.C
&) | CF GOMMA 11C 360-45 O | BPw 05 429 40 08 1
Q | CONTITECH 881MB Z | BPW 05429 4054 0 e
Z | FIRESTONE  1T66F-10.8 E BPW 05429 41361
E FIRESTONE ~ WO1 M58 8966 < | BPW TYPE 36
W | GOODYEAR 1R14-712 o
L
T} >
o Ll
19} O o g
(7]
) . B
@ e Dee
@) | J
| —
‘);\\\\\\\\\Will@“ﬁ‘ﬁi‘iﬁll&%lli&\\\\\\\\‘“
Product Explanation | Metal Complete Air Springs Pallet Quantity : 18 Product Weight :17 Kg.
CODE
A4.887.CO1
gj BLACKTECH RML7998C1
() | BLACKTECH RML7998-2C1
Z | CONTITECH 887 M K1
E FIRESTONE NO. WO1-M58-8683 =
Wi | FIRESTONE STYLE 1T15LNR-3 Artitech :
w | GOODYEAR 1R11-798 Hirsprings
o GOODVYEAR FLEX NO. 566-22-3-533
% NEOTEC ABM 214 28 A O1
O | PRIME-RIDE NEW 1R11-798
0 | PRIME-RIDE NEW FLEXNO. = 566-22-3-533 f oo
SPRINGRIDE 1R11-798 u
SPRINGRIDE FLEX 566-22-3-533 5] KJ
VIBRACOUSTIC V1DF18-2
La 3190.
4
Product Explanation | Metal Complete Air Springs Pallet Quantity : 39 Product Weight :6 Kg.
@ BOLTORSTUD O THREADED HOLE COMBINATION @ STUD AIR INLET info@artitechautomotive.com | 15

www.artitechautomotive.com



16

Artitech........

CODE

CROSS REFERENCES

CODE

CROSS REFERENCES

CODE

A4.887.C09
CONTITECH 887 N PO? (@) 1794 425
Z
-
o
8
>
L
@)
Product Explanation | Metal Complete Air Springs
A4.887.C33
CONTITECH 887 N PO3 % 1153 935
-
o
g
>
L
®)
Product Explanation | Metal Complete Air Springs
A4.887.C66
CONTITECH 887 N P06 1794 428

CROSS REFERENCES

Product Explanation

OEM PART NO

Metal Complete Air Springs

info@artitechautomotive.com
www.artitechautomotive.com

@ BOLT OR STUD

2221
b

15#1

/

Airsprings

Artitech’

137x2

)

Pallet Quantity : 39

133;

-

Artitech

Airsprings

METAL COMPLETE AIR SPRINGS

Me2x15-6H|

M10xL,

76

134+05

Mi6x2—6H

@n

y

8185+2

Product Weight : 6 Kg.

M10x1,5-60¢x3)

M16x2-6H

Pallet Quantity : 39

13712

Pallet Quantity : 39

O THREADED HOLE

Product Weight :8 Kg.

7105

10040;

134105
=

= =0 2xMI0xL5-6g

/ Mi6x2-6H

¥

1904

Product Weight :6 Kg.

COMBINATION

& STUD AIR INLET



Artitech’.. .o METAL COMPLETE AIR SPRINGS

CODE
A4.912.CO1

(Lf.l) CONTITECH 912 N PO1 O | SAFHOLLAND 3229 0030 00 Feahe oo
(Q | FIRESTONE  1T19L-14 Z | WEWELER US 07385

Z | FIRESTONE W01 M58 8502 = ) Mo rgue
i o Artitech

H-J [a

(7| >

o' 1]

n (@)

n &

(@)

o

© 3 vz 7s-sicxs
Product Explanation | Metal Complete Air Springs Pallet Quantity : 19 Product Weight : 14,50 Kg.
CODE
A4.912.C02

(L{J, CF GOMMA 1T19 E-4 QO | HENDRICKSON 507782 1 - nezxis-e
Q | CONTITECH 912 N PO2 = ROR 2122 2673

E DUNLOP D13 BO3 'E SAF HOLLAND 2926 (F14) (

o | FIRESTONE 1T19L-14 <L | SAFHOLLAND 3229001300 )

L | FRESTONE  WOTM588766 B | WEWELER  US 96081 Artitech

L GOODYEAR 1R14-758 E

) PHOENIX 1D 28 D2 [®)

n

(@)

a4

3B

Product Explanation | Metal Complete Air Springs Pallet Quantity : 19 Product Weight : 15 Kg.
CODE

‘I.I,J’ CONTITECH 940 MB O | BPW 05429 40931
(Q | FIRESTONE  1T1/D-4,3 Z | BPW 05429 41141
Z | FRESTONE WO1M588609 k5 | BPW 05 429 4123 1 mm———
E GOODYEAR 1R11-763 < | BPW 05429 42 191 T
LUl | SPRINGRIDE  D11B39 o E
w > /
o L
195} O
(%2}
(@)
o ;[
(@] ] I i
; ! B,
b 1 3
T o
! L | s |
Product Explanation | Metal Complete Air Springs Pallet Quantity : 19 Product Weight : 11,50 Kg.
@ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD AIR INLET info@artitechautomotive.com |17

www.artitechautomotive.com



Artitech........

& | CONTITECH 941MB O | BPW
O | DUNLOPFR D11B38 Z | gpw
E FIRESTONE  1T17D-8.3 & | BPW
o | FIRESTONE W01 M58 8419 <

| GOODYEAR 1R11-762 o

L | PHOENIX  1DK 21 E

oy | TAURUS KR 730-01 o)

7))

(@)

x

(@)

Product Explanation | Metal Complete Air Springs

05429 4028 1
05 429 40591
05429 41241

CODE
A4.1285.C
gj FIRESTONE ~ 1T19L O | SCANIA 2198324
Q | 1TI9L Z | SCANIA  US 04029P
Z | FIRESTONE W01 M58 8107 'n_: SCHMITZ 017 089
',3'2 GART 2874541 <C | SCHMITZ 017 685
W' | GOODYEAR 1R14-784 Q. | WEWELER US 04031P
w | GOODYEAR 1R14-812 > | WEWELER YP4031N-F
0 | pHOENIX 1D28F-5 P
) O
%)
o
o
(@]
Product Explanation | Metal Complete Air Springs
CODE
A4.1285.C02
g} PRIME-RIDE NEW TR14-784 O | SCHMITZ 017 089
O PRIME-RIDE NEW 1R14-812 Z | SCHMITZ 017 685
PRIME-RDENEW FLEXNO,  566-28-3-529
£ | RMERDENEWFLEXNO, 6283540 g | WEWELER - US 04029P
o | BLACKTECH RML74031C <C | WEWELER  US 04031P
L | BLACKTECH RML77685C QO | WEWELER  VYP4031N-F
b5 | DUNLOPF D14B49 s
o | FIRESTONENO WO1-M58-8107 T
¢ | FRESTONESTYLE L1 [®)
o) | COODYEAR TR14-784
O | GOODYER TR14-812
o¢ | GOODYEARFLEXNO 566-28-3-529
O | GOCDYEARFLEXNO 566-28-3-540
NEOTEC ABM 744 35K 45
SPRINGRIDE TR14-784
SPRINGRIDE R14-812
SPRINGRIDE FLEX 566-28-3-529
SPRINGRIDE FLEX 566-28-3-540
VIBRACOUSTIC V1D28F-5

Product Explanation | Metal Complete Air Springs

info@artitechautomotive.com
www.artitechautomotive.com

@ BOLT OR STUD

METAL COMPLETE AIR SPRINGS

195

Pallet Quantity : 28

178

M22x1.5-6H

M12x1,75-6g(x2)

Rirsprings

M16x2-6HX6)

70s05]

220612

8286

Product Weight :12,30 Kg.

)

Mizx175-60 (2)

/o

i

~.

\ M12x1.75-6H (x4

\

\

.y

—

S

/

N
\
\
|
[
7%

20005
926032

Pallet Quantity : 22

i}

.

T

Product Weight :15 Kg.

<

-~

178+2

M12x1.75-6g(x2}
I

Artlte_ch‘”

Pallet Quantity : 22

O THREADED H

OLE COMBINATION

Product Weight : 15 Kg.

& STUD AIR INLET



Artitech........

CODE

A4.1410.C

METAL COMPLETE AIR SPRINGS

CROSS REFERENCES

Product Explanation

CODE

A4.1740.C

OEM PART NO

ISUZU

Metal Complete Air Springs

3874531141

GOODYEAR

CROSS REFERENCES

Product Explanation

1R11-740

OEM PART NO

DAF

Metal Complete Air Springs

1616000

HENDRICKSON  HA100310

140=

CONTITECH
GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR

CROSS REFERENCES

Product Explanation

@ BOLT OR STUD

6630 N PO1
1R11-814
1R11-857
1R11-875
TR11-906

O THREADED HOLE

OEM PART NO

Metal Complete Air Springs

COMBINATION

VOLVO 20 909 150
VOLVO 21977973

& STUD AIR INLET

97+2
[

Artltech

‘ 02282
T
M12x1.75-6G
ﬁ

M12x1.75-6H

Pallet Quantity :

39 Product Weight : 5,60 Kg.

MI6x1.5-6H

| M2xt75-6q0@>

M1 T5-6H (xt)

Pallet Quantity : 36

Product Weight :9,70 Kg.

106.,9

160s2

\ ~ Y.
Airsprings \\\ J—\\%// y
\ y

B
9

Pallet Quantity : 36

Product Weight : 9 Kg.

info@artitechautomotive.com | 19
www . artitechautomotive.com



Artitech’.. .o METAL COMPLETE AIR SPRINGS

CODE
A4.1859.C

(L{J) GOODYEAR 1R11-816 O | RENAULT RVI 20909 153

Q | GOODYEAR 1R11-859 Z | 20909 153

E GOODYEAR 1R11-880 E RENAULT RVI 21978 492

o < | 21978 492

L Q. | RENAULT RVI 7420909153 Artitech

L 2 | 7420909153 "

) 8 RENAULT RVI 7421978492

(%2 7421978492

o

o

(@) &

0

Product Explanation | Metal Complete Air Springs Pallet Quantity : 36 Product Weight :7,50 Kg.
CODE
A4.1859.C02

i ®]

O P4

—

. 2

o

E o

w >

o 1]

9 ®)

(72]

O oy

o B

o g

Product Explanation | Metal Complete Air Springs Pallet Quantity : 36 Product Weight :7 Kg.
CODE
A4.2813.C

& | FRESTONE  1T19L-7 O | DAMLERTAS A 9463281901 =
Q | FIRESTONE WO1 M58 6222 Z | WEWELER US 07337RP

E GOODYEAR TR14-825 'E o |
o | PHOENIX 1D28 A-13 < ‘

E VIBRACOUSTIC ~ V1DK28A-13 ; \

(T} \ ,

o L N

%) O 5o

()] MI2EATS-6H 8 —~ |

o o

: o

TN 4
Product Explanation | Metal Complete Air Springs Pallet Quantity : 22 Product Weight : 13,50 Kg.
20 info@artitechautomotive.com @ BOLT OR STUD O THREADED HOLE COMBINATION & STUD AIR INLET

www.artitechautomotive.com



Artitech’.. .o METAL COMPLETE AIR SPRINGS

CODE
A4.3042.C02
hans L bt M22x1.5-6H

(L{.I) O | GIGANT 166271

Q Z | GIGANT 247104, 3042 M0
Z 'n;ﬁ Artitech T

T, > —

& o

m 120 M16x2-6H
: =
£ o[ @@

O ; \\J

» bt
m {fh'} #202:e

Product Explanation | Metal Complete Air Springs Pallet Quantity : 22 Product Weight :8,80 Kg.
CODE

A4.3608.C )

[ I—

<I.I/.I) CONTITECH 6700 N P02 O | SCANIA 1903608 s

O = A LN

Z =

i x Artitech

o < s

E a i springs

(T} > V)

o L

192} @)

(72]

@)

o E

O by

ot 2
= u 7

Product Explanation | Metal Complete Air Springs Pallet Quantity : 22 Product Weight : 12 Kg.
CODE
A4.3642.C

o O | GIGANT 247103
@) = | ‘ '

4 = 74

& o L

a [ A

: 2 SV
(T} >

o L =

7 O =

m |

& e

U & \QI

Product Explanation | Metal Complete Air Springs Pallet Quantity : 18 Product Weight :13 Kg.

@ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD AIR INLET info@artitechautomotive.com | 21

www.artitechautomotive.com



22

ArtlteCh Air springs
CODE
A4.4004.C03
CufJ) CFGOMMA 1T 300-37,1T 323-33 QO | SAFHOLLAND 2229000700
(Q | CONTITECH 4004 N P05 Z | SAFHOLLAND 2229000701
Z | DUNLOP D12B13/14 E SAFHOLLAND 3229000700
'a':J GOCODYEAR  1R11-706 <C | SAFHOLLAND 3229000700
E PHOENIX DK 22E5 Q. | SAFHOLLAND 3229000702
wl | TAURUS KR505-27SM >
o L
923 @)
(%2)
@)
o
O
Product Explanation | Metal Complete Air Springs
CODE
A4.4022.C02
\ 0
O Z
|_
. z
o
E o
(T} >
o L
19} O
(72]
o
o
O
Product Explanation | Metal Complete Air Springs
CODE
A4.4022.C03
g} CF GOMMA 1T 300-37 204677 O | SAFHOLLAND 3229002900
Q | CONTITECH 4022 N PO3 Z | SAFHOLLAND 3229212900
E DUNLOP D12B26 'E 3229212900
o | FIRESTONE  1T17BS-6 <C | SAFHOLLAND 3229242900
E FIRESTONE ~ WO1M58 6367 o
IEI:J GOODYEAR  1R11-710 E
- PHOENIX 1DK22 E-9 e)
(%2)
@)
o
O

Product Explanation

info@artitechautomotive.com
www.artitechautomotive.com

Metal Complete Air Springs

@ BOLT OR STUD

METAL COMPLETE AIR SPRINGS

2D

145:

Artltech‘

veexL5-6H

@y

WiZx175-6H-7H

\

W
NS

2000
oesEe

Artitech

Air springs

1902

Pallet Quantity : 28

JEA =

Product Weight :9,3Kg.

M22xL5-6H

\ | Mex175-6g0x@)

925822

Product Weight : 10 Kg.

Artltech‘

ST
SR
S
SR
050 00%

SBEBBS
oS

BEESSKS
ISR

)
S
30y

S

TN

R

TR
X
R

S

X
R
X

3
NS

3
R

S
N
R

==
S

145

M22x15-6H

M12x1.75-60(x2)

~/¢'\

7 \ o
/ 1 w5t
&

Pallet Quantity : 28

O THREADED HOLE

COMBINATION

S\

\¢/‘

0260:e

Product Weight : 9,20 Kg.

& STUD AIR INLET



Artitech’.. .o METAL COMPLETE AIR SPRINGS

CODE
A4.4023.C03

U | CFGOMMA  TTI9E-2204676  |© | SAFHOLLAND 3229213100

O | CONTITECH  4023NP03 Z | SAFHOLLAND 3229223100

Z | FIRESTONE TI9L-11 ES | SAFHOLLAND 3229243100

& | FRESTONE WOTMBE86348 | <F | SAFHOLLAND 3229003100

L | GART D277 2774505 a

L | GOODYEAR 1R14-729 >

O | pHOENIX 1D28B-10 3 T

& | SPRNGRDE  D13826 oA
O | VIBRACOUSTIC  VID28B-10 [m
o &

: )
Product Explanation | Metal Complete Air Springs Pallet Quantity : 22 Product Weight :12 Kg.
CODE
A4.4028.C02

¢ | CONTITECH 4028 N PO2 O | SCANIA 2198335
Q | FRESTONE TI9L-12 Z | SCHMITZ 015 323 e
Z | FIRESTONE WO1968 8106 = | sMB 9377008 . ]

& | FRESTONE WO1M58 8106 SE VALX 80131003 Art'teﬁb ‘

L | GOODYEAR R14-782 O | WEWELER US 04028

Wi | PHOENIX D28 F-1 S | WEWELER US 04028C

O | SPRINGRIDE D14B47 '-(')J WEWELER US 04028F

& | VBRACOUSTIC  VID28F-1 WEWELER YP4028N2-F

(@)

x

U il

Product Explanation | Metal Complete Air Springs Pallet Quantity : 22 Product Weight : 12,50 Kg.

CODE
A4.4156.C06

& | CONTITECH 4156 N P06 O | MERTOR(ROR) 21215761

QO | DUNLOP D12B19 Z | MERITOR(ROR) 21216135 o | ons e

5 GOODYEAR  1R12-719 'E NEWAY 905 57075 R N

o | PHOENIX DK 21A-2 <C | WEWELER US 35864

| TAURUS KR 506-28 o

w >

[a d (1]

%)) (@) y

m : M12x1.75 EH-7H(x4>
o |

o ‘

O L\ZE/R
Product Explanation | Metal Complete Air Springs Pallet Quantity : 22 Product Weight :8,80 Kg.

@ BOLTORSTUD O THREADED HOLE COMBINATION @ STUD AR INLET info@artitechautomotive.com | 23

www.artitechautomotive.com



24

Artltec h“Airsprings

CODE

A4.4159.C03
CF GOMMA 1T 323-40
CONTITECH 4159 N PO3
DUNLOP D12B0O1
FIRESTONE — 1T15M-9
FIRESTONE ~ WO1 M58 8859
PHOENIX 1DK 21 B-4

CROSS REFERENCES

Product Explanation

CODE
A4.4159.C06

CROSS REFERENCES

Product Explanation

OEM PART NO

FRUEHAUF UJA 0894
FRUEHAUF UJB 0203

Metal Complete Air Springs

CONTITECH

CODE
A4.4159.C0O7

CROSS REFERENCES

Product Explanation

4159 N PO6

OEM PART NO

FRUEHAUF
ROR

Metal Complete Air Springs

UJA 0894-001
21215891

CF GOMMA
CONTITECH
DUNLOP
FIRESTONE
FIRESTONE
FIRESTONE
GOODYEAR
PHOENIX
TAURUS

1T 323-40 202302
4159 N PO7
D12B15

1T15M-9
WO01379 9071
WO1 M58 8859
1R12-702

1DK 21B-6

KR 509-25

info@artitechautomotive.com
www.artitechautomotive.com

®
P
l—
(o2
g
>
L
O

FRUEHAUF

Metal Complete Air Springs

UJdB 0203

@ BOLT OR STUD

METAL COMPLETE AIR SPRINGS

Artlte;h“‘

MI2x1.75-6H0x4)

1904

Pallet Quantity : 28 Product Weight :9,60 Kg.

Mi2xL75-6H

Y\ MeoxLs-6g
W Mix15-6H

f
a
I

I
\ T 1575

022812

axM1zx1 7564

190:

Product Weight : 11 Kg.

Pallet Quantity : 28

Artitech

Airsprings

190z

@& s
(o
’\/

Pallet Quantity : 28 Product Weight : 11 Kg.

O THREADED HOLE COMBINATION & STUD AIR INLET




Artitech........

CODE
A4.4159.C14

CROSS REFERENCES

OEM PART NO

Product Explanation | Metal Complete Air Springs

CODE
A4.4183.CO1

CONTITECH 4183 N P23

CROSS REFERENCES

OEM PART NO

Product Explanation | Metal Complete Air Springs

MERCEDES A 942 320 2221

CODE
A4.4183.C23
& | GOODYEAR 0567 O | MERCEDES 942 32013 21
QO | PHOENIX 1KF 32-23 Z | OENO
Z | PRIME-RIDE NEW 95647 IE MERCEDES 9472 32022 21
o | SPRINGRIDE 9567 < | CENO.
T o | MERCEDES A 942 32013 21
L OE NO.
o 2 | VERCEDES A 942 320 1321
n O | OENO.
n MERCEDES A 942 320 68 21
8 OE NO.
O MERCEDES A 942 320 22 21
OE NO.
MERCEDES A 942 320 68 21
OF NO.
MERCEDES A 942 32022 21
OF NO.

Product Explanation | Metal Complete Air Springs

@ BOLT OR STUD O THREADED HOLE

COMBINATION

METAL COMPLETE AIR SPRINGS

190+

Pallet Quantity : 28 Product Weight :XX Kg.

25a

M16x1.5-6H

Artitech

1652

Pallet Quantity : 28 Product Weight :8,8 Kg.

M16x1.5-6H

Artitech

&

1654
)

J/

Pallet Quantity : 22 Product Weight :9,30 Kg.

® STUD AIR INLET info@artitechautomotive.com | 25

www.artitechautomotive.com



Artitech........

CODE
A4.4183.C24

METAL COMPLETE AIR SPRINGS

16522

(L{J) CONTITECH 4183 N P24 O | MERCEDES A 942 320 2321
O Z
H MLEx1,5-6H

5 &

- g

L >

o Ll

n @)

v

(@)

a4

(@] K
Product Explanation | Metal Complete Air Springs Pallet Quantity : 22 Product Weight : 8,80 Kg.
CODE
A4.4185.CO1 _

(I.I/.I) CONTITECH 4185 N PO1 QO | MERCEDES A 974 320 0021 Vg

) =z v f

|_ ) 1045 4005

é o Artitech A

i a LD @i
u_ Lt

T} >

o Ll

) @

(7p]

O Mi6x1.5-6H
[a's 9 L

O

Product Explanation

CODE
A4.4390.CO1

Metal Complete Air Springs Pallet Quantity : 22 Product Weight :8,50 Kg.

g} CONTITECH 4390 N PO1 O | MERCEDES A 942 320 0121

O |DUNLOP  D12T10 z

Z | GOODYEAR 9505 E ’

& | PHOENIX  TKF 21-1 < Artitech

E n_ Air springs

T} >

o L = 0 =
1923 @)

(%2}

(@)

2 . -
O g

Product Explanation | Metal Complete Air Springs Pallet Quantity : 30 Product Weight : 6,50 Kg.

@ BOLT OR STUD

O THREADED HOLE

COMBINATION ® STUD AIR INLET info@artitechautomotive.com | 26

www.artitechautomotive.com



Artitech’.. .o METAL COMPLETE AIR SPRINGS

CODE
A4.4390.C0O2

2505

(L{J) CONTITECH 4390 N P02 O | MERCEDES A 942 320 0221

O | DUNLOP D12T11 z

E GOODYEAR 9506 'E m;iiﬁiig A M16x1.5-6H

PHOENIX 1KF 21-2

E I Artitech

L >

a w o N

n @)

(72}

O Mi6x1.5-6H
o 3

o 5
Product Explanation | Metal Complete Air Springs Pallet Quantity : 30 Product Weight :6,50 Kg.
CODE
A4.4390.C21

(L{J) CONTITECH 4390 N P21 O | MERCEDES A 942 320 2821

O Z | MERCEDES A 942 320 4921

z i

Ll M16x1.5-6H
o 5=
E g Artltem'cwt\ ME4x1.5-6g
L >

o wl

) (@)

(72]

(@)

m M16x15-6H
O g St S &j

@ \\mm

Product Explanation | Metal Complete Air Springs Pallet Quantity : 30 Product Weight :6,50 Kg.
CODE

A4.4390.C22

g} CONTITECH 4390 N P22 O | MERCEDES A 942 320 2921 155403

S Z | MERCEDES A 942 320 5021 e e

zZ I= o ai

: z

a

E [a

] >

o Ll

195} O

n

(@)

a'd P

(@] g

Product Explanation | Metal Complete Air Springs Pallet Quantity : 30 Product Weight : 6,60 Kg.
27 | info@artitechautomotive.com @ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD ARR INLET

www.artitechautomotive.com



Artitech’.. .o METAL COMPLETE AIR SPRINGS

CODE
A4.4390.C23

CONTITECH 4390 N P23

MERCEDES A 942 320 5221

Mi6x1.5-6H

M16x15-6H
M24x15-6g

OEM PART NO

165+2

CROSS REFERENCES

Product Explanation | Metal Complete Air Springs Pallet Quantity : 30 Product Weight : 6,60 Kg.

CODE
A4.4390.C25

CONTITECH 4390 N P23

MERCEDES A 942 320 5221

Mi6x15-6H Ise M16x15-6H
M24x15-6g Sy

OEM PART NO

@ o

CROSS REFERENCES

1652

Product Explanation | Metal Complete Air Springs Pallet Quantity : 30 Product Weight :6,50 Kg.

CODE
A4.4410.C

OEM PART NO

Artitech

CROSS REFERENCES

(A) 450+10

Product Explanation | Metal Complete Air Springs Pallet Quantity : 19 Product Weight : 11,50 Kg.

@ BOLTORSTUD O THREADED HOLE COMBINATION & STUD AIR INLET info@artitechautomotive.com | 28
www.artitechautomotive.com



METAL COMPLETE AIR SPRINGS

Mi6x1.5-6H
Meaxl5-6g

15005

Mi4xe-6g

9197:2

Product Weight :6,60 Kg.

MLEX15-6H
Wadxi5-bgY
M24x15-6g MLOX1.5-6g

15008

Mi4x2-6g

Product Weight :6,10 Kg.

Artltec h Air springs

CODE

A4.4560.C02

‘u’j CONTITECH 4560 N P02 O | voLvo 21224745

O Z | VOLVO 22058737

z = ‘
& [ Artitech
o <
E o

L >

o Ll

n @)

n

O

o

(@] :

et

Product Explanation | Metal Complete Air Springs Pallet Quantity : 39
CODE
A4.4561.CO2

fﬁ CONTITECH 4561 N P02 O | VOLVO 21224 746

O Z |VOLVO 22058738

& b

L ‘
o < Artitech
(T} >

o L

) O

n

o

o

(@]

g &
Product Explanation | Metal Complete Air Springs Pallet Quantity : 36
CODE
A4.4570.CO1
CONTITECH 4570 N PO1 VOLVO 21224 749

CROSS REFERENCES
OEM PART NO

Product Explanation | Metal Complete Air Springs

29 | info@artitechautomaotive.com
www.artitechautomotive.com

Pallet Quantity : 39

M10x1.5-6g

Product Weight : 5,75 Kg.

@ BOLT OR STUD O THREADED HOLE COMBINATION & STUD AIR INLET



Artitech’.. ... METAL COMPLETE AIR SPRINGS

CODE
A4.4570.C02

(L{J) CONTITECH 4570 N P02 O | voLvo 22 058 741

(@) <
Z = ; \\\ JeEE
& o Artitech

E [a N

(¥ > .

o Ll

n (@)

(7]

@)

®

\\\\/30%5
P16

Product Explanation | Metal Complete Air Springs Pallet Quantity : 39 Product Weight : 5,77 Kg.
CODE
A4.4571.CO2

& | CONTITECH 4571 N P02 O | VOLVO 21224750 “ e |

(@) Z | VOLVO 22056630 =Nl s
Z H ; L @) = r
w o Artitech 419 f

&

L

(T > .

o w

(7)) O i | 305 M14x2-6g

ézl\l P169:2

Product Explanation | Metal Complete Air Springs Pallet Quantity : XX Product Weight :5,70Kg.
CODE

A4.4713.C0O2 i

& | CONTITECH 4713 N P02 O | VOLVO 1076594 ’ % N
O |DUNLOP  D12B24 Z |VOLVO 20554755 o0 _
Z | FRESTONE  1T17BSR-8 e . FS ]
oF | FIRESTONE W01 M58 9706 < ‘ g )
Wi | GOODYEAR 1R12-762 a Artitech y.
Wi | PHOENIX  1DF 22 C-1 > ~
a 1] : .
wn @)
S
[a' g 8 {ﬁ
ey
Product Explanation | Metal Complete Air Springs Pallet Quantity : 39 Product Weight : 8 Kg.
@ BOLT OR STUD THREADED HOLE COMBINATION STUD AIR INLET info@artitechautomotive.com | 30

www.artitechautomotive.com



Artitech........

CODE
A4.4713.C50
(Lﬁ BLACKTECH RML75824C O | voLvo 20 554 755
Q | CFGOMMANO 207775 Z | oENO.
CF GOMMA REF 175300-28 —
< | ConTTECH 4713NPO2 o | VOO - 20554755
oZ | DUNLOPF D12B24 <L | OENO.
E FIRESTONE NO, WO01-M58-9706 o VOLVO 1076594
L | FIRESTONESTYLE  1T17BR-8 S | oENO
o | GARTNO 2931460 L :
¢ | GARTREF C293/V O | VOO - 1076594
) | GOODYEAR TR12-762 OE NO.
O | COCDYEARFLEXNO.  566-24-3-513
¢ | NEOTEC ABM53530D 10
Q) | PHOENIX 1DF 22C-1
PRIMERIDE 54713 APO2
PRIME-RIDE NEW R12-762
PRIME-RIDE NEW FLEXNO, 566-24-3-513
SPRINGRIDE R12-762
SPRINGRIDE FLEX 566-24-3-513
VIBRACOUSTIC V1DF 22 C-1
Product Explanation | Metal Complete Air Springs
CODE
A4.4718.CO1
CONTITECH 4718 N PO1 VOLVO 1075 363
FIRESTONE  1T17JBR-97 VOLVO 1629718
FIRESTONE ~ WO1 M58 8577 VOLVO 20 452 136
GOODYEAR 1R12-821 VOLVO 20 554 759

CROSS REFERENCES

Product Explanation

CODE

OEM PART NO

Metal Complete Air Springs

A4.4757.CO1

CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR

CROSS REFERENCES

Product Explanation

31

4757 N PO1
1TR7Z 460305A
WO1 M58 8521
9519

OEM PART NO

MERCEDES A 942 320 0117

Metal Complete Air Springs

info@artitechautomotive.com

www.artitechautomotive.com

@ BOLT OR STUD

METAL COMPLETE AIR SPRINGS

Artitech

“irsprings

155+2

Pallet Quantity : 28

Pallet Quantity : 28

155

Pallet Quantity : 22

o
2]

92,4405
84205

MLExL5-6H

MI0XLS-6g<x@)

25:05

Artitech

Airsprings

N\

THREADED HOLE

9189

#258:e

o6

K | Mi6x15=6H
18005 ﬁwﬁ

Product Weight : 9,20 Kg.

COMBINATION

\ 4

2

02261

Product Weight :9,50Kg.

215t
T

Mibrts-6H

azsne

1)
S

Product Weight : 7,70Kg.

STUD AIR INLET



Artitech........

CODE
A4.4757.C09

CONTITECH 4757 N PO9
FIRESTONE  1R7Z 4603058
FIRESTONE ~ W01 M58 8522
GOODYEAR 9520

MERCEDES

OEM PART NO

CROSS REFERENCES

Product Explanation | Metal Complete Air Springs

A 974 3200417

CODE

A4.4757.C21

) | CONTITECH 4757 N P21 O | MERCEDES A 942 320 4321
O Z
= —
| o
o =
| >
o |
) (@)
N

(@)

x

(@)

Product Explanation | Metal Complete Air Springs

CODE

A4.4757.C29

g} CONTITECH 4757 N P29 O | MERCEDES A 942 320 3221
O Z
zZ =
[T o
. <
W Z
n @)
(72]

O

o

(@)

Product Explanation | Metal Complete Air Springs

METAL COMPLETE AIR SPRINGS

L

/

155

Pallet Quantity : 22 Product Weight : 7,50 Kg.

] Mot s-6g
| Miex15-6H
|

Artitech

Airsprings

155«

N\

Pallet Quantity : 22 Product Weight :9 Kg.

M2Lx15-bg
Miex 561

\/

Artltech‘

9155205

é Mibets-6H

155,

N

Pallet Quantity : 22 Product Weight : 9 Kg.

@ BOLT OR STUD

THREADED HOLE COMBINATION

STUD AIR INLET

info@artitechautomotive.com | 32
www.artitechautomotive.com



Artitech’.. .o METAL COMPLETE AIR SPRINGS

CODE
A4.4770.C

(L{J) CONTITECH 54770 M O | voLvo 20554 770 ‘;;‘fg;g
O < | VOLVO 3173271
Z 'E 257
w
o < Artitech
E [a Firsprings
(7| >
a 1]
wn (@)
v
(@) ¥
a4 g
(@)
% W 819012
Product Explanation | Metal Complete Air Springs Pallet Quantity : 28 Product Weight :8,60Kg.
CODE

A4.4810.C05

CF GOMMA 1T19 E-1205456 O
CONTITECH 4810 N P05 Zz
DUNLOP D13B25 'n_:
FIRESTONE  1T19L-7 <
a
>
Ll
(@)

SAFHOLLAND 32290027 00
SAFHOLLAND 3229 2127 00
H N
SAF HOLLAND 3229222700 Artitech
FIRESTONE ~ WO1 M58 6338 B
GOODYEAR IR14-730
PHOENIX 1D 28 A-10
TAURUS KR 621-18

CROSS REFERENCES

139,72

9260,3:

Product Explanation | Metal Complete Air Springs Pallet Quantity : 22 Product Weight :12 Kg.

CODE
A4.4810.C06

CONTITECH 4810 N P06
FIRESTONE  1T19LB-8
FIRESTONE ~ WO1 M58 6216
PHOENIX 1D 28 E-1

SAF HOLLAND 2922V [ 250
SAF HOLLAND 3229003600

G
. | ¢ W {:? —
Artitech K //

OEM PART NO

CROSS REFERENCES

17852

Product Explanation | Metal Complete Air Springs Pallet Quantity : 22 Product Weight : 12 Kg.

33 | info@artitechautomotive.com @ BOLT OR STUD THREADED HOLE COMBINATION STUD AIR INLET
www.artitechautomotive.com



Artitech’.. .o METAL COMPLETE AIR SPRINGS

CODE
A4.4813.C0O7

U | CONTITECH 4813 N P07 O | scANIA 1107674 e ‘

Q | DUNLOP D13B10 = SCANIA 1314906 A s s
E DUNLOP D13B22 E SCANIA 1865755

o | FIRESTONE  1T19L-11 <L | SCANIA 255293 Artit h

L | FRESTONE  WOTM587358 (B | SCANIA 255295 rirech

E GOODYEAR 1R14-727 Z SCANIA 298568

PHOENIX 1D 28 B-9 8 SCANIA 325748

(7))

v a7t b
(@)

o y

(@) IS

Product Explanation | Metal Complete Air Springs Pallet Quantity : 24 Product Weight : 11,50 Kg.
CODE
A4.4823.C

(I.{J) FIRESTONE 1T19L-11 O DISCOSMERCEDES - A 946 328 1501 weeas-en

@) FIRESTONE WO1M58 6223 Z | SCHVITZ 5015323 N

Z | GOODYEAR 1R14-823 'E WEWELER USQ04030P ) ‘

&2 | PHOENIX 1DK 28F-3 <

L | \VBRACOUSTIC  VIDK28 F-3 [a B

L

(7| >

o w

n (@)

(72]

(@)

[a' 4

O g
Product Explanation | Metal Complete Air Springs Pallet Quantity : 22 Product Weight : 14 Kg.
CODE

A4.4838.CO1

g} CONTITECH 4838 N PO1 O | MERCEDES A 946 320 0421

() | FIRESTONE  1R7Z 595330A 4

Z | FIRESTONE W01 M58 8512 = | toexss
[T} m @ MI6x1.5-6H
o < 7

L < %

T} >

o Ll

19} O

m M16x1.5-6H
Q ¥

o E

U al
Product Explanation | Metal Complete Air Springs Pallet Quantity : 22 Product Weight : 8,20 Kg.

@ BOLT OR STUD THREADED HOLE COMBINATION STUD AIR INLET info@artitechautomotive.com | 34

www.artitechautomotive.com



35

Artitech........

CODE
A4.4838.C23

CROSS REFERENCES

Product Explanation

CONTITECH

CODE
A4.4862.C02

CROSS REFERENCES

Product Explanation

CROSS REFERENCES

Product Explanation

4838 N P23

OEM PART NO

MERCEDES A 942 320 3521

Metal Complete Air Springs

CONTITECH

4862 N1P02

VIBRACOUSTIC V1 DF 16 B-1

OEM PART NO

MAN

Metal Complete Air Springs

8143600 6049

CONTITECH
DUNLOP
FIRESTONE
FIRESTONE
GOODYEAR
PHOENIX

4881 MB
D14B37
1T66F-70

WO1 M58 8602
TR14-724

1DK 32 K-1

info@artitechautomotive.com
www.artitechautomotive.com

OEM PART NO

BPW
BPW
BPW

Metal Complete Air Springs

05429 41311
05429 41221
TYPE 36 K

@ BOLT OR STUD

METAL COMPLETE AIR SPRINGS

Artltech“

210:0

81551

130z

Pallet Quantity : 22

Artitech
A " e

wﬂﬁ

Pallet Quantity : 28

1572

Pallet Quantity : 18

THREADED HOLE

M24x15-6g

f}i M16x1.5-6H
ﬁ
K

Product Weight :11 Kg.

|
max1s-6g

A “ J e o

91792

Product Weight : 8 Kg.

Product Weight : 16 Kg.

COMBINATION

STUD AIR INLET



Artitech’.. .o METAL COMPLETE AIR SPRINGS

CODE
A4.4881.CO1

i 0 ~
U §| ﬁ‘ Mi2x75-6
& o .

E P Artitech *//

(¥ >

o Ll

1%5) O g {% Miex2-6H(12)
8 oo | 0o \}

o 5{ i o

Product Explanation | Metal Complete Air Springs Pallet Quantity : 18 Product Weight : XX Kg.
CODE
A4.4882.C0O5

&) | CONTITECH 4882 N1 P05 O | MAN 8143600 6036 ~T

@) FIRESTONE  1T17JR7.2 Z | MAN 81.436.006.056 /(éﬁn_

Z | FIRESTONE W01 M58 9879 'E . ‘;l =~ ]

& | GOODYEAR 1R10-709 < Artitech
E n_ “Air springs M16x1.5-6HOXR), e

L >

o ] i —

7 o) f
2 .~

o é \y

© P ] I

(AR B179s

Product Explanation | Metal Complete Air Springs Pallet Quantity : 28 Product Weight :8 Kg.
CODE

A4.4884.C06

(L{J) CONTITECH 4884 N1 P06 O | MAN 8143600 6035

@) FIRESTONE 1T17TWR 80 Z | MAN 81.436.006.055 | mexiseg
E FIRESTONE WO1 M58 9880 'E

o | GOODYEAR TR11-861 <

E VIBRACOUSTIC V1DF19B-1 [a B Artlteﬂc,l‘q‘

(T} >

- o

17, .
2

(@] ? W Kj

ﬁ‘ B197:2
Product Explanation | Metal Complete Air Springs Pallet Quantity : 28 Product Weight :10 Kg.
@ BOLT OR STUD THREADED HOLE COMBINATION STUD AIR INLET info@artitechautomotive.com | 36

www.artitechautomotive.com



Artitech’.. .o METAL COMPLETE AIR SPRINGS

CODE
A4.4884.C0O7
¢?/5812
) | CONTITECH 4884 N1 P07 O | MAN 8143600 6041 -
i AR ee Y A - I W
O /'@
z = -—é—d |
E E M16x1.5-6H(x2Y _ > texla-eq
L >
(o4 |(.|)J K
g 70
t j
O AR
W ﬁ 21902
Product Explanation | Metal Complete Air Springs Pallet Quantity : 28 Product Weight : 9 Kg.
CODE
A4.4912.CO7
(L{J) CONTITECH 4912 N PO7 QO | RENAULT RVI 5010 294 307 C g ?
O | DUNLOP D13845 z
Z | FIRESTONE 1T19L-14 = .
[a 4
£ | FRESTONE  WOIM588786 | <f Artitech
W | GOODYEAR  1R13-738 a /
L | PHOENIX 1DK 28 F-4 E Sgnzs
) VIBRACOUSTIC  V1DK28F-4 [®)
(7]
v an
a'd
Product Explanation | Metal Complete Air Springs Pallet Quantity : 18 Product Weight :13 Kg.
CODE .
A4.4912.C10 R
&) | CONTITECH 4912 N P10 O | RENAULTRVI 5010557 355 N
O Z | 5010557 355
— ‘
E SE VOLVO 20722 412 Artitech
o =
E [a
T} >
[a g Ll
) @)
N
@)
a4
o
Product Explanation | Metal Complete Air Springs Pallet Quantity : 18 Product Weight :13,50 Kg.
37 | info@artitechautomotive.com @ BOLT OR STUD THREADED HOLE COMBINATION STUD AIR INLET

www.artitechautomotive.com



Artitech’.. .o METAL COMPLETE AIR SPRINGS

CODE
I i
= i —
& | CONTITECH 4912 N P13 O | RENAULTRVI 5010 600 328 ﬁ %
QO | FIRESTONE  1T19LL-14 Z | RENAULTRVI 7421978 494 Artitech J—“— M
Z | FIRESTONE W01 M58 5520 E VOLVO 20 726 768 o ¢ ;‘ : ]
E PHOENIX 1DK28F-6 < | VOLVO 21978 504 ’
E o ) .
(7| > R
o L
92} @)
m Ml6x1,5-6g
8 ] o>
a \Q) C///
9] \s o K
Product Explanation | Metal Complete Air Springs Pallet Quantity : 18 Product Weight : 13,50 Kg.

CODE
A4.4913.C02

8 8

(I.{J) CONTITECH 4913 N P02 O | sCANIA 1379392 s

Q | DUNLOP D14B42 Z | SCANIA 1440294 . meassn ) [~ —]

£ | FIRESTONE  1T19L-14 = Artitech

o | FIRESTONE  1T19LAJ-14 < e

W | FRESTONE  W010950500 & =

E FIRESTONE ~ WO1-M58-9881 >

n GOODYEAR 1R14-753 I'(')J

o | PHOENIX 1D 28 H-16 )

8 TAURUS KR 625-16 g

© ./ \

Product Explanation | Metal Complete Air Springs Pallet Quantity : 18 Product Weight : 12 Kg.
CODE
A4.4915.C06

& | CONTITECH ~ 4915N P06 O | RENAULTRVI 21978500 e
QO | GART C294/C, 2941530 Z | RENAULTRVI 22190563

Z | PHOENIX 1DK19-1 'E RENAULT RVI - 5010557991

L X Artitech

or | VBRACOUSTIC  VIDK19-1 <C | RENAULTRVI 5010600578

H_J O | RENAULTRVI 5010 294 309

L 2 | SAMRO H 2501122 S

N 8 VOLVO 20 757 541 —

%)) VOLVO 22 025 613 116x15769
o /

m o

: Ui

'N /‘ ?186:2
Product Explanation | Metal Complete Air Springs Pallet Quantity : 22 Product Weight :11 Kg.
@ BOLT OR STUD THREADED HOLE COMBINATION STUD AIR INLET info@artitechautomotive.com | 38

www.artitechautomotive.com



Artitech’.. .o METAL COMPLETE AIR SPRINGS

CODE

A4.4933.CO1

gj FIRESTONE  1T17HR-8 O | SCANIA 1434933

() | FIRESTONE ~ WO1 M58 8633 z

zZ -

: 2

a

LILJ [a

i >

o Ll

19} O

(7]

Qo |

o' 3

U —

Product Explanation | Metal Complete Air Springs Pallet Quantity : 24 Product Weight : 7 Kg.
CODE

A4.4941.C

& | CONTITECH 4941 MB O |BPwW 05 429 43250 Mizx175-6g
O Z

l—

. z

a e

E o

(T} >

o wl MIEX2-6H (x6)
% O S0 0£0,5

o) . U od

o g

y f N

? K= 8206+,
Product Explanation | Metal Complete Air Springs Pallet Quantity : 28 Product Weight : 9 Kg.
CODE
A4.6021.C S5
e

[9%2] O | MERCEDES A 961 320 6021

L

O z

Z = Artitech

5 g 30¢1

L

T, >

o Ll

19} O

(72]

o g

3 S

Product Explanation | Metal Complete Air Springs Pallet Quantity : 28 Product Weight : 9 Kg.

39 | info@artitechautomotive.com @ BOLT OR STUD THREADED HOLE COMBINATION STUD AIR INLET

www.artitechautomotive.com



Artitech’.. .o METAL COMPLETE AIR SPRINGS

CODE
A4.6416.C
‘Iﬁ CONTITECH 6608 N PO1 O | RENAULT RVI 7422071639
Q) | DUNLOP D10BO1 Z | VOLVO 1075 891
Z | FIRESTONE  1T15UR-9 E VOLVO 1076 416
E FIRESTONE ~ WO1 M58 8474 < VOLVO 20 374 510
E GOODYEAR 1R10-704 a | voLvO 20 456 152
T, > | VOLVO 20 531985
o 8 VOLVO 20582 215 ‘
% VOLVO 21961 456 ot
'®) VOLVO 3171693 e
o VOLVO 70 321 693
O 5 NS i
I
?169%2
Product Explanation | Metal Complete Air Springs Pallet Quantity : 6,2 Product Weight : 28 Kg.
CODE
A4.6418.C
(I.ﬁ CONTITECH 6607 N PO1 O | voLvo 1076 418
Q) | FIRESTONE 1T15UR-6 Z | voLVO 20 374 511
E FIRESTONE W01 M58 8473 E VOLVO 20 456 156
¢ | VIBRACOUSTIC VI1DF16 C-1 < | VOLVO 20531987 \
L Q- | voLvo 20582 214 Artitech N
LiJ E VOLVO 3171695 oo T ol
n (@) Ml4x2-6
(7p]
(@)
[a's
° | N
8,820,2
®169+2
Product Explanation | Metal Complete Air Springs Pallet Quantity : 39 Product Weight : 6 Kg.
CODE
A4.641 8.C1o Miexl,75-6H
L@ |
i
ﬂ O 157.50£0.5
O Z
=z -
L o .
o < Artitech
E [a i springs
(T} >
o Ll
0 o
(72]
(@)
a4 B
o
Product Explanation | Metal Complete Air Springs Pallet Quantity : 39 Product Weight :6 Kg.
@ BOLT OR STUD THREADED HOLE COMBINATION STUD AIR INLET info@artitechautomotive.com | 40

www.artitechautomotive.com



Artitech’.. ... METAL COMPLETE AIR SPRINGS

CODE
A4.6420.C
& | CONTITECH 6600 N P02 O | VOLVO 1076420
O Z | VOLVO 20374 512
pd S | VOLVO 20456 160 =N
o <C | VOLVO 20531989
L Q. | vOLVO 20582213 PRRE
T} S | VOLVO 219471448 y
o (] S
193 O
D
O \ ML4x2-6g
ol
O )
Product Explanation | Metal Complete Air Springs Pallet Quantity : 39 Product Weight : 5 Kg.
CODE
M16x15-6H
A4.6700.C
& | CONTITECH 6700 N PO O | SCANIA 1510195
O Z | SCANIA 154 3691
z ES | SCANIA 1731113 ;
o < Artitech
E a A prings
(] >
m 8 M16x2 -6
0 o
3
Q : @
© i T/
>
- 32284
Product Explanation | Metal Complete Air Springs Pallet Quantity : 18 Product Weight :12,5 Kg.
CODE
A4.1285.C02
2286, M12x175-6g(x2)
O | PRIVE-RDENEW R14-784 O | SCHMITZ 017089 —
Q | PRME-RDENEW R14-812 Z | SCHMITZ 017 685 7% m
PRIME-RDE NEW FLEXNO,  566-28-3-520 |
£ | RMERDENEWFLEXNO, 56283540 g | WEWELER - US 04029P T s
o | BLACKTECH RML74031C <C | WEWELER  US 04031P & /)
Ll | | BLACKTECH RML77685C Q. | WEWELER  YP4031N-F
b5 | DUNLOPF D14B49 s
o | FRESTONENO WO-MBS-8107 5 zs1 1561
FIRESTONE STYLE TI9L-11 L
& | GOODVERR TR14-784 o | , Bﬁ\ \
GOODYEAR R14-812 g ‘
O | GomERAEND 5359 : P
O | GOCDYEARFLEXNO.  566-28-3-540 ale
NEOTEC ABM 744 35K 45 ‘
SPRINGRIDE TR14-784 B26052
SPRINGRIDE R14-812
SPRINGRIDE FLEX 566-28-3-520
SPRINGRIDE FLEX 566-28-3-540
VIBRACOUSTIC VID28F-5

Product Explanation | Metal Complete Air Springs Pallet Quantity : 22 Product Weight : 15 Kg.

41 | info@artitechautomotive.com @ BOLT OR STUD THREADED HOLE

www.artitechautomotive.com

COMBINATION STUD AIR INLET



Artitech........

CODE

A4.6700.C02

METAL COMPLETE AIR SPRINGS

M16x15-6H

CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR

CROSS REFERENCES

Product Explanation

CODE

6700 N PO2
WO01-M5b8-8535
WO01-505-9881
1R14-869

A4.7329.C

OEM PART NO

Metal Complete Air Springs

PHOENIX

CROSS REFERENCES

Product Explanation

CODE

1D 23G-1

VIBRACOUSTIC  V1D23G-1

A4.6755.C0O1

OEM PART NO

Metal Complete Air Springs

CROSS REFERENCES

Product Explanation

@ BOLT OR STUD

CONTITECH 6755 N PO1

OEM PART NO

Metal Complete Air Springs

THREADED HOLE

SCANIA 1903608
SCANIA 1944314
Artitech
M16x2-6
U &
- ¢Z;8.
Pallet Quantity : 18 Product Weight : 12,50 Kg.

DAF 140 1395-A y
DAF 1407329 | BV
HENDRICKSON  H 505431
HENDRICKSON  HS505431-03

Pallet Quantity : 28 Product Weight :8,30 Kg.
DAF 1901305 \\\ E

/)] 3
Artitech N
% M16x2-6H
o - |/
B = \\
i N

Pallet Quantity : 36 Product Weight : 8,10 Kg.

COMBINATION STUD AIR INLET info@artitechautomotive.com | 42

www.artitechautomotive.com



43

Artltec h Air springs

CODE

A4.7803.C

& | CONTITECH 6605 N POT QO | RENAULT RVI 7422071638
O | DUNLOP D11B42 Z | voLvo 1075 890

E FIRESTONE  1T15LNR6 'n_z VOLVO 1076 415

o | FIRESTONE W01 M58 8472 <C | VOLVO 20 375 226
k| GOODYEAR 1R11-805 a | yovo 20 427 800
L > | VoLvo 20 427 803
a 6 VOLVO 20 456 150
;) VOLVO 20 531984
(@) VOLVO 20582 206
6 VOLVO 21961374
Product Explanation | Metal Complete Air Springs

CODE
A4.7804.C

& | CONTITECH 6606 N POT O | vOLvO 20 427 801
QO | FIRESTONE  1T15LNR3 Z | VOLVO 20 427 804
Z | FIRESTONE W01 M58 8477 'E VOLVO 20 456 154
o < | VOLVO 20531986
L Q. | vOLVO 20 582 209
Tw| > | VOLVO 3171694
[a' 4 [T]

) (@)

n

(@)

o

(@)
Product Explanation | Metal Complete Air Springs

CODE
A4.7805.C

& | CONTITECH 6606 N P02 O | voLvo 1076 417
O Z | voLVO 20 375 228
5 'E VOLVO 20 427 802
o <C | VOLVO 20 427 804
™ o | voLvo 20 427 805
L > | voLvo 20 456 158
n 8 VOLVO 20 531988
N VOLVO 20 582 212
(@) VOLVO 21961 447
o

@)

Product Explanation

Metal Complete Air Springs

info@artitechautomotive.com
www.artitechautomotive.com

@ BOLT OR STUD

METAL COMPLETE AIR SPRINGS

Artitech

Rirsprings

1652

Pallet Quantity : 30

25

106.9
7
T

Artitech

Airsprings

155

Pallet Quantity : 39

Artltech‘

119,52

THREADED HOLE

%mﬁm

Pallet Quantity : 39

M16x1.5-6g

Product Weight : 7 Kg.

M16x15-6g

COMBINATION

Ml4xe-6g

Product Weight : 6,8 Kg.

ML6x1.5-6g

N\Ml4xe-6g

Product Weight : 6,50 Kg.

STUD AIR INLET



Artitech........

CODE
A4.8250.C

OEM PART NO

CROSS REFERENCES

Product Explanation | Metal Complete Air Springs

CODE
A4.9780.C

FIRESTONE 1T15ZR-6
FIRESTONE WO1 358 9782

FREIGHTLINER 16-16773-000

CROSS REFERENCES
OEM PART NO

Product Explanation | Metal Complete Air Springs

CODE
A4.40302.C

FIRESTONE  1T15VPR-3
FIRESTONE ~ WO1 M58 8193
GOODYEAR  1R12-809
PHOENIX 1DF23 A-1

SCANIA-SBUSSAR 1440302
SCANIA-SBUSSAR 470921

CROSS REFERENCES
OEM PART NO

Product Explanation | Metal Complete Air Springs

44 | info@artitechautomotive.com @ BOLT OR STUD
www artitechautomotive.com

METAL COMPLETE AIR SPRINGS

124

1201

Pallet Quantity : 45 Product Weight : XX Kg.

1/47-18 NPTF

34,5
34,5

=i

Artltech‘

1/2"-13 UNC

154+2

AN PN

i)

Pallet Quantity : 36 Product Weight : 9 Kg.

“Seus.

MLex15-6H

tE
\ 140405

N

#2058

[

#229:2

Pallet Quantity : 36 Product Weight : 7,90 Kg.

THREADED HOLE COMBINATION STUD AIR INLET



Artitech’.. .o METAL COMPLETE AIR SPRINGS

CODE
A4.40302.CO1

(Lﬁ GOODYEAR 1R12-813 O | SCANIA-SBUSSAR 1726238
O Z
'—

& o .

E e~ Artlteﬁvgm

L >

o s T

(72}

(@)

o

E

Product Explanation | Metal Complete Air Springs Pallet Quantity : 36 Product Weight : 7,90 Kg.
CODE
A4.40304.C

(I.{J) GOODYEAR TR11-829 O | SCANIA-SBUSSAR 1440304 - i?v
Q PHOENIX 1DF20 A-3 Z | SCANIA-SBUSSAR 470922 s |l
o o~

: 5

(T} >

o wl

o [®)

%) . S

Q
Product Explanation | Metal Complete Air Springs Pallet Quantity : 36 Product Weight : 7,90 Kg.
CODE

A4.40304.C01

& | GOODYEAR  1R11-834 O | SCANIA-SBUSSAR 1726240 \ ?
U Z ws |
l—

& & _

i =

E o

L >

o L

%)) @)

w w

2

O g
Product Explanation | Metal Complete Air Springs Pallet Quantity : 39 Product Weight : 7,90 Kg.

a5 | info@artitechautomotive.com @ BOLT OR STUD THREADED HOLE COMBINATION STUD AIR INLET

www.artitechautomotive.com



COMPLETE
PLASTIC ™
PISTON |



Artitech . ... COMPLETE PLASTIC PISTON

CODE
A4.813.CP

& | FIRESTONE  1T19L-11 o] \\\}7
N
Q) | FIRESTONE  WO1 M58 6339 z ‘ \ |
Z - 5 W 1
L [a 4 _
4 < Artitech \KJ
™ =% 4
m z P286:
[a 4 8 Y &
(7)) T
8 //’ M)
5
y y
\‘\%J
Product Explanation | Complete Plastic Piston Pallet Quantity : 22 Product Weight : 9 Kg.
CODE
A4.813.CP0O2
(I.{J) O Has-sg 15t Mi2x175 6
O Z
Z = I
2 z ﬁ
E o
Ll z 9286w
o w .
(9p] O = &
m /- N
O Il! /’/ \\ M12x1.75-6H (x4)
x 4 g' ? ]
5 /x Y
!la
g g 0260:
Product Explanation | Complete Plastic Piston Pallet Quantity : 22 Product Weight :9,10 Kg.
CODE
A4.881.CP
& | DUNLOP  D14B41 O | BPW 05429 43510 =
(Q | FIRESTONE  1T66F-10.8 4
Z | FIRESTONE W01 M58 8667 =
o | GOODYEAR 1R14-748 % Artltewcwt! zzzzz
E PHOENIX 10K 32-1 o /
w
n (@) .y =
A
8 Q - \“ i
N NE=YN
Product Explanation | Complete Plastic Piston Pallet Quantity : 18 Product Weight : 13,60 Kg.
@ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD AR INLET info@artitechautomotive.com | 47

www.artitechautomotive.com



Artitech . ... COMPLETE PLASTIC PISTON

CODE
A4.4159.CPO3

& | FRESTONE  1T15M-9 % SCANIA 255204 wearss |
. M20x15-6
(2) FIRESTONE WO1-M5b8-7308 — SCANIA 1314905 . :
E GOODYEAR  1R12-713 9<:
i | AIRTECH 34159-S1C-ALU [a
L
L >
o Ll
) O
v
O M2x1,75
(@) z /
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight : 7,68 Kg.
CODE
A4.4159.CP0O9
(I.{J) CF GOMMA 1T 323-40 200751 O | CARDI 580 51210
Q | CONTITECH 4159 N PO9 E FRUEHAUF UJB 0358-001 ’
&5 | FRESTONE  1T15M-9 @ | SAMRO  H 2500324 Artitech o
5 FIRESTONE ~ WO1 M58 9131 g SMB 152 5199
h GOODYEAR  1R12-721 > SMB M 001774
o PHOENIX 1DK 21B-8 L
19} O
3
T
= N 1
S 1
1
917
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight :7,20 Kg.
CODE
A4.4158.CP10
I M12x1,75-6g(x2)
* 5 N
L Z @ A z
(2) E Artitech B :
o} A Springs 150205
o <C
E [a
L > —
o Ll
()] O Mi2x1,75-6H(x2)
(72]
O 3
b2 2
(@]
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight : 9 Kg.
@ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD AIR INLET info@artitechautomotive.com | 48

www.artitechautomotive.com



Artitech . ... COMPLETE PLASTIC PISTON

CODE
A4.4158.CPO3
8258
& | CONTITECH 4158 N PO3 QO | SCHMITZ 14892 -~ peaa-s
LZ) DUNLOP  D12B22 E SCHMITZ = 750 999 ”?E \ woea
i | FIRESTONE  1T15MPW-9 o | WEWELER US 0628 ¢ ”]V
O | FIRESTONE W01 M58 8185 E 3 :
L | GOODYEAR 1R12-749 S -
o - L
¢ | PHOENIX  1DK 20 B-1 o)
8 g itech
m prings
(@) Nt
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight : 6,70 Kg.
CODE

A4.4157.CPO4

CONTITECH 4157 N PO4 O | DAMLERTAS  A946328 1401 [{2
DUNLOP  D12B18 E ROR 21221307 T t
FIRESTONE  1T15MPW-7 o | WEWELER  US06287 T L J
FIRESTONE ~ WO1 M58 6297 g WEWELER  US 07364 Artitech y
Airsprings SN~

GOODYEAR 1R11-111 S se5e.

L

O

CROSS REFERENCES

173,515

PHOENIX 1DK 21 A-4

PHOENIX DK 21 A-8

TAURUS KR 915-54 I}
t 100+
| B200:

0,2

Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight :6,60 Kg.

CODE
A4.4157.CP50 @ﬂ

7T |z
n L s
(NN} O / 2
(@) 4 @ i3 #
—
. 2
a
E [a
T} >
o Ll
19} O
(%2}
Q 3
a4 =
(@]
100£0,5
j 220042
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight : 7 Kg.
@ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD AR INLET info@artitechautomotive.com | 49

www.artitechautomotive.com



Artitech . ... COMPLETE PLASTIC PISTON

CODE
A4.4157.CP10

CONTITECH 4157 N P10
DUNLOP D12B29
FIRESTONE  1T156MPW-7
FIRESTONE ~ WO1 M58 6315
GOODYEAR 1R11-772
PHOENIX 1DK 20 A-51
TAURUS KR 915-51 P

ACERBI 128140028
ACERBI 800449526
FRUEHAUF  UJB 0975
SMB M060924

Artitech

Airsprings

OEM PART NO

M12x175-6H

CROSS REFERENCES

17542

#1004

#200+2

Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight : 6,60 Kg.

CODE
A4.4157.CPO9

CFGOMMA 1T 300-38 205598
CONTITECH 4157 NPQ9
DUNLOP  D12B17
FIRESTONE  1T15MPW-7
FIRESTONE ~ WO1M58 7074
GOODYEAR 1R11-106 o
PHOENIX DK 21A-31 -
TAURUS  KR913-57 | VY ‘

&

ROR 2122 2442
WEWELER  USO7074 F

Artitech

OEM PART NO

CROSS REFERENCES

100£0,2

173,5%1,5

9200:2

Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight :6,60 Kg.

CODE
A4.4157.CP0O8

& | CONTITECH 4157 N P08 O | NEWAY 90557233 BT N
O |DUNLOP  D12B30 E SAMRO  H 2501849

& | FRESTONE  1T15MPW-7 o | SvB MO78 580 K\T J

o <

L FIRESTONE W01 M58 6317 a N

b5 | GOODYEAR 1R11-773 s =

O | pHOENIX  1DK 20 C-2 L

0 o

17}

(@]

x

(@] 4
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight : 6,60 Kg.

@ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD AR INLET info@artitechautomotive.com | 50

www.artitechautomotive.com



Artitech . ... COMPLETE PLASTIC PISTON

CODE
A4.4157.CP0O4

(L{J) CONTITECH 4157 N PO4 O | DAMLERTAS A 946 328 1401
(2) DUNLOP D12B18 E ROR 2122 1307
w | FIRESTONE  1T15MPW-7 o | WEWELER US 06287 »
o < Artitech
w | FIRESTONE  WO1 M58 6297 a | WEWELER US 07364 Airsp
b GOODYEAR  1R11-111 >
o PHOENIX DK 21 A-4 A
n @)
o) | PHOENIX DK 21 A-8
8 TAURUS KR 915-54
O :
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight : 6,60 Kg.
CODE
A4.4157.CPO3
(L{J) CONTITECH 4157 N PO3 (@) g \\ik—l
O Z P
- \
S o
o /
E o
(T} >
o w
) O
(72]
(@)
m n
o i
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight : 7 Kg.
CODE
A4.4156.CP50
73105
//’;’ M12x1.75 - 6g (x2)
it ® ®
O zZ M22x15 - 6H
= N
E ﬂ<: 2 2
a 25:08|
B 8 :
E E 222841
& O
10 (x2)
(@) A 2
o
© %%%
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight : 6,80 Kg.
@ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD AIR INLET info@artitechautomotive.com | 03

www.artitechautomotive.com



Artitech . ... COMPLETE PLASTIC PISTON

CODE
A4.4156.CP30

(Lﬁ FIRESTONE ~ WOQO1 M58 6269 O | HENDRICKSON 550 552

O Z

Z &

o Artitech

o <C

m a =

T} >

a 1]

n @)

N

) .
o " z
O 3 E
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight : 6,40 Kg.
CODE
A4.4156.CP15

(L{J) CONTITECH 4156 N P15 O | FRUEHAUF MOO 1472

Q | FIRESTONE  1T15M-6 E HENDRICKSON  HA100001 e
E FIRESTONE ~ WO1 358 9361 o | MERITOR (ROR) 21215761

5 GOODYEAR 1R12-716 g SMB UJB 0207

b PHOENIX 1DK 2T A-2 > WEWELER US 35864

o SPRINGRIDE D12B19 L

0 O

o) | TAURUS KR 506-28

(@)

x o
S

Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight :6,60 Kg.
CODE

A4.4156.CP14

g} FGOMMA 1T 323-32 O | HENDRICKSON  B2066 .

QO | CONTITECH 4156 N P14 E MERITOR (ROR) 21208939

E DUNLOP D12B33 o | NEWAY Q0557027 L*gns

5 GOODYEAR 1R12-716 g NEWAY Q0557075 Artltech‘

IS | PHOENIX  1DK23K-9082 S | WEWELER US 09361F e e

o L

) @)

n

a4

(@]

Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight : 6,60 Kg.
@ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD AIR INLET info@artitechautomotive.com | 03

www.artitechautomotive.com



Artitech.

CODE

rsprings

A4.4156.CP11

FIRESTONE
FIRESTONE

CROSS REFERENCES

Product Explanation

CODE
A4.4156.

1T15M-6
WO1T M58 9296

OEM PART NO

HENDRICKSON  HS 250009

Complete Plastic Piston

CP10

CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR

CROSS REFERENCES

Product Explanation

CODE

4156 N P10
1T15M-6

WO1 358 8929

1R12-461

OEM PART NO

HENDRICKSON  HA 100016

Complete Plastic Piston

A4.4022.CPO6

PHOENIX

CROSS REFERENCES

Product Explanation

@ BOLT OR STUD

1DK 22 E-92621V

VIBRACOUSTIC V 1DK22 E-13

OEM PART NO

SAFHOLLAND 3229003800

Complete Plastic Piston

O THREADED HOLE

COMBINATION

& STUD AIR INLET

COMPLETE PLASTIC PISTON

M12X175 bg

Artitech

A springs

145+2

145+2

Pallet Quantity : 28

Pallet Quantity : 28

170z

Pallet Quantity : 28

Mi2xL75-6g

22281

M20X15-6g

Product Weight : 6,60 Kg.

Product Weight :6,60 Kg.

I M22x.5-6H=7H

Product Weight : 7 Kg.

info@artitechautomotive.com | 03
www.artitechautomotive.com



Artitech . ... COMPLETE PLASTIC PISTON

CODE
A4.4022.CPO5

N | CFGOMMA  1T300-37206585  |© | SAFHOLLAND 3229003300 Ll
LZ) CONTITECH 4022 N P05 E Yt | 1)

&5 | FRESTONE  1T17BS-6 o il

E FIRESTONE ~ WO1M58 8612 E NS

I | GART D2783 2781455 s e

o - L

oy | GOODYEAR  R11-781 o

) | PHOENIX DK22 E-11

8 VIBRACOUSTIC VIDK22 E-10 g

U e}

Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight : 6,60 Kg.
CODE
A4.4022.CPO3

U | CFGOMMA  1T300-37206340 [ | SAFHOLLAND 3229002900

QO | CONTITECH 4022 NPO3 E SAF HOLLAND 3229212900

£ | FRESTONE 1717856 o | SAFHOLLAND 3229222900

O | FRESTONE  WOTMS58 6367 L | SAFHOLLAND 3229242900

L

L | GART D278S 278.4.454 s

O | GOODYEAR  RI1-714 L

n (@)

& | PHOENIX DK22 E-9 7

8 SPRNGRDE  D12B14

O | VIBRACOUSTIC VIDK22 E-9 4
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight :6,60 Kg.
CODE

A4.4022.CPO2

i ©)
O Z
—

5 Z

a

E [a

L >

o Ll

19} O

(%2}

(@)

&

(@] g
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight : 6,50 Kg.

@ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD AIR INLET info@artitechautomotive.com | 03

www.artitechautomotive.com



Artitech..... COMPLETE PLASTIC PISTON

CODE

A4.4004.CPO3

& CONTITECH 4004 N PO3 O | SAFHOLLAND 322900700

O | FIRESTONE 1T17BS-6 Z

Z =

w | GART D278S 2784452 [a 4

& | GOODYEAR  1R11-713 I

I | GOODYEAR  1R11-750 s

o i} LL
- PHOENIX 1DK22 E-8 O

) | SPRINGRIDE D12B13

8 SPRINGRIDE D12B34 .

O | VIBRACOUSTIC V1DK22 E-8 g

FIRESTONE WO1TM58 6366

Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight : 8,50 Kg.
CODE

A4.2924.CP

(LI,J) PHOENIX 1D 28 B-11 O | SAFHOLLAND 2924V

O < | SAFHOLLAND 3229004100

Z -

& <

[ad

E o

] >

o w

193 O

[72)

(@)

[a'd

o g

Product Explanation | Complete Plastic Piston Pallet Quantity : 22 Product Weight :9,50 Kg.
CODE
A4.2923.CP

X (@)

(@) Zz Miex175-6g0@

-

. 2

[a g

E [a

i >

o Ll

0 O

N

(@)

o

5
Product Explanation | Complete Plastic Piston Pallet Quantity : 22 Product Weight : 8,50 Kg.

@ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD AIR INLET info@artitechautomotive.com | 03

www.artitechautomotive.com



Artitech . ... COMPLETE PLASTIC PISTON

CODE
A4.2919.CP
& | BLACKTECH RML75921CP O | SAFHOLLAND 29719V
QO | BLACKTECH RML75921CP1 E SAF HOLLAND 3229 0042 00
£ | BLACKTECH RML75921CP2 o
& | CONTITECH 4310N P13 I
b | FIRESTONENO  WO1-M58-5540 s
O | FIRESTONE STYLE 1T19FB-8 8
& | GArRTNO 2771421
8 GART REF. D277/B
O | NEOTEC ABM 722 34C 41 3
PHOENIX 1 D28E-2 2
PRIME-RIDE NEW  1R14-892
PRIME-RIDE NEW FLEX NO.
566-28-3-562
Product Explanation | Complete Plastic Piston Pallet Quantity : 22 Product Weight : 6,50 Kg.
CODE
A4.2621.CP
A | PHOENX DK 22 E-13 O | SAFHOLLAND 32290038 00 s
QO | VIBRACOUSTIC VIDK22E-13 Zz
£ | CFGOMMA  1T300-37/207719 | g
o B
& GART D278/S-2781453 | &k
LL | ARTECH 32621 CPP s
o i
n (@)
n
@)
o g
(@) g
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight :7,50 Kg.
CODE
A4.2626.CP
) | ARTECH 32626 CPP O | SAFHOLLAND 3229003900 | T A T s
Ll @omearse | N
=z = hd
L S(: .
o
L a
(7| >
a 1]
n @)
n
@]
m ¥
O
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight : 8 Kg.
@ BOLTORSTUD O THREADED HOLE COMBINATION @ STUD AR INLET info@artitechautomotive.com | 03

www.artitechautomotive.com



Artitech ........

CODE

A4.2619.CPO1

AIRTECH

CROSS REFERENCES

Product Explanation

32619-01 CPP

OEM PART NO

SAF
SAF

Complete Plastic Piston

2619 B
32281033 00

COMPLETE PLASTIC PISTON

Arhtech

MaDxL5 -6 X

CODE
A4.2619.CP
ﬂ CONTITECH 4022 N P05 O | PHOENIX 1DK 22 E-1
_ Z | VIBRACOUSTIC  VIDK22E-10
(2) FIRESTONE ~ 1T1/BS-6 — | BLACKTECH RML75133CP5
i | FIRESTONE  WO1-M58-8612 O | FIRESTONE WO01-M58-8612
5 GOODVYEAR 1R11-781 g FIRESTONE STYLE  1T17BS-6
GOODYEAR 1R11-781
L
| AIRTECH 32619 CPP S | GOODYEAR 566-22-3-526
o LU | CF GOMMA 566-22-3-526
%)) O | creomma 17300-37
N GART 2781455
8 GART D278/S
O SPRINGRIDE 1R11-781
SPRINGRIDE 566-22-3-526
PRIMERIDE 54022 A P05
PRIMERIDE 1R11-781
PRIMERIDE 566-22-3-526
DUNLOP D11B41
NEOTECH ABM 52030 A 11
Product Explanation | Complete Plastic Piston
CODE
A4.941.CPO1
CONTITECH 941 MB PO1 CONTITECH 40030NPO1
CONTITECH Q41MBPO1
FIRESTONENO.  WO1-M58-8072

CROSS REFERENCES

Product Explanation

@ BOLT OR STUD

O THREADED HOLE

OEM PART NO

PHOENIX

Complete Plastic Piston

COMBINATION

FIRESTONE STYLE 1T17J-118

1DK21-4

PRME-RDENEW 1R11-940

& STUD AIR INLET

MIEx15-6H \\

1502

Product Weight : 7 Kg.

Pallet Quantity : 28

)
3R
X
3
S
RS
S
R
RS

XX

K5
19550

T
“
)
SIS
R

‘

3

R
X

2
3

X
X
3
R
R
&

X
X
R
3

%055
5%

S
R
'&2.3

SO
R

R
X
3
3

R
R
2

IR
5
X
3
S

:;:.
3
S
%

S

3
S
R
D
X
&

SPSG%

X
X
S
S

150¢2

Pallet Quantity : 28 Product Weight :7 Kg.

Me2x1.5-6H

I
TN
,5‘
I

v

B203e

195%2

Pallet Quantity : 28 Product Weight : 7,80 Kg.

info@artitechautomotive.com | 03
www artitechautomotive.com



Artitech . ... COMPLETE PLASTIC PISTON

CODE
A4.941.CP
O | BLACKTECH RML7052CP GARTNO. 2932512 | ueosrs e
E CFGOMMANO 206356 GART REF. C293 \\ | Hex7see.
e | CFGOMMARER  1TC300-36 GOCDYEAR R11-743
E CONTITECH 40030N PO2 GOCDYEAR FLEXNO. 566-22-3-500
> | CONTITECH 941MB P02 PHOENIX 1DK21-2 Z
8 CONTITECH 941MBP30 PRIMERIDE 5941 APO4
DUNLOPF D11833 PRIME-RIDE NEW R11-743
DUNLOP UK 00935A-AP PRIME-RIDE NEW FLEXNO.  566-22-3-500 :
FRESTONENO.  WO01-M58-8618  SPRINGRIDE R11-743 é :
FRESTONENO.  WO1-M58-8668  SPRINGRIDE FLEX 566-22-3-500 f ;
FIRESTONE STYLE 1T17D-83 VIBRACOUSTIC VIDK21VY1 d : =
=V e 2200
FIRESTONE STYLE  1T17J-103
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight : 9,50 Kg.

CODE
A4.940.CP

(L{J) CONTITECH 940 MB P30 O | BPW 0542943210 s
Q | FIRESTONE 1T17D-4,3 E SCANIA 2198483

£ | FRESTONE  WO1 M58 8585 o | SCHMITZ 017 331 g\\\ |

5 GOODYEAR 1R11-752 g SCHMITZ 751084 e

L

w | SPRINGRIDE D11B36 >

o w

) O

(72]

@)

m al

(@) 3

Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight :8,50 Kg.
CODE

A4.940.CPO1

& | CONTITECH 940 MB PO1 O |BPW 0542943860 TE=E “1uL

O | FIRESTONE  WO1M588073 & j
S - bd| @

: :

a

E [a

T} >

o Ll }

5 e |

O 5 ]

@ | spring|

o |

Qe
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight : 6,50 Kg.
@ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD AR INLET info@artitechautomotive.com | 03

www.artitechautomotive.com



ArtlteCh Air springs

CODE

A4.912.CP

O | CONTITECH 912 N PO4

E FIRESTONE NO. WO1-M58-5542

o | FIRESTONE STYLE 1T19FB-15

E FIRESTONE STYLE CO1-M58-1173

> | NEOTEC ABM 760 33 C 49

8 PHOENIX 1D 28 D-11
PRIME-RIDE NEW 1R14-890
PRIME-RIDE NEW FLEX NO. 566-28-3-510

Product Explanation

CODE

Complete Plastic Piston

A4.4162.CP

CROSS REFERENCES

Product Explanation

CODE

CONTITECH 4162 N PO1

OEM PART NO

Complete Plastic Piston

A4.4159.CP27

DAIMLER TAS A 946 328 2501

FIRESTONE

CROSS REFERENCES

Product Explanation

@ BOLT OR STUD

WO1 6819242

OEM PART NO

GRANNING
GRANNING

Complete Plastic Piston

O THREADED HOLE

COMBINATION

11382
15699

& STUD AIR INLET

COMPLETE PLASTIC PISTON

6+1

M22x1.5-6H

3

Artlte_ch‘

p SN

2172

Pallet Quantity : 28 Product Weight : 11,70 Kg.

N | Mezas-sg
s N\ A 2560

173,52

10040,5
o200t

Pallet Quantity : 28 Product Weight :6,50 Kg.

M20xL5-6a

Mi2x175-6
¢
i
15005
N

18812

Product Weight : 7,10 Kg.

Pallet Quantity : 28

info@artitechautomotive.com | 03
www artitechautomotive.com



ArtlteCh Air springs

CODE

A4.4157.CP0O6

‘u’j CONTITECH 4157 N P06 O | sSCHMITZ 751065

(2) DUNLOP D11B37 E WEWELER  US 06316

w | FIRESTONE  1T15MPW-7 o

5 FIRESTONE ~ WO1 M58 8186 E

b GOODYEAR  1R11-764 >

o - L

- PHOENIX 1DK 20 A-1 e)

(2]

®)

o

@)

Product Explanation | Complete Plastic Piston

CODE

A4.4159.CP13

fﬁ CONTITECH 4159 N P13 QO | HENDRICKSON NA 1817
QO | CONTITECH 9 10-19 P 326 E HENDRICKSON 5619

E FIRESTONE  1T15M-9 oz | LOADGUARD SC2120
5 FIRESTONE ~ WO1 358 9192 & NAVISTAR / FLEETRITE  1681738C1
b GOODYEAR 1R12-167 S | NAVISTAR /FLEETRITE 1681740C1
3:_) TAURUS 6364 "(')J SAF HOLLAND 90557086
o) | TRIANGLE 8326 SAF HOLLAND 90557108
Q SAF HOLLAND 90857135
(O] SAF HOLLAND 90557136

WATSON & CHALIN  AS-0038 & AS-0046

Product Explanation

CODE
A4.4159.CP12

CROSS REFERENCES

Product Explanation

Complete Plastic Piston

CONTITECH
CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
TAURUS
TRIANGLE

@ BOLT OR STUD

4159 N P12

2 10-19 P 315
1T15M-9
WO1 358 9101
1R12-717
6364

8315

O THREADED HOLE

OEM PART NO

DAYTON
HENDRICKSON
LOADGUARD
NAVISTAR / FLEETRITE
REYCO

RIDEWELL

RIDEWELL

RIDEWELL

\VOLVO

WATSON & CHALIN

Complete Plastic Piston

COMBINATION

352-9101
B3842
SA2038
554768C1
12883-01
1003589101C
5-5828-C
S-740-C
85101149
AS-0040

& STUD AIR INLET

COMPLETE PLASTIC PISTON

&
=4

Artltech

M12x1.75-6H

192+

Pallet Quantity : 28 Product Weight : 6,60 Kg.

145

Pallet Quantity : 28 Product Weight :7,30 Kg.

\ 3/-teune
X 1aineTe

ﬁ( §
ver-ane
1
i
L
e
\

Pallet Quantity : 28 Product Weight : 7 Kg.

info@artitechautomotive.com | 03
www.artitechautomotive.com



Artitech . ... COMPLETE PLASTIC PISTON

CODE
A4.836.C50 .
Culj BLACKTECH RML7947-2C1 O | DAF 0 388 167
Q | CONTITECH 836 M2K1 zZ
= | DUNLOPF D13831 —
L | FIRESTONENO. WO01-M58-8721 o
OC | FIRESTONE STYLE 1T17AR-45 <
W | GaRTNO 3021375/2 o
LU | GARTREF C302 >
Y | GOODYEAR R12-711 wJ
) | GOODVEARFLEXNO.  566-24-3500 O
) | NEOTEC ABM 507 31C 01 i
QO | promnix 1DF 25-13 3
6 PRIMERIDE 5836 A2 PO1 N
PRIME-RIDE NEW TR12-71
PRIME-RIDE NEW FLEXNO.  566-24-3-500
SPRINGRIDE R12-711
SPRINGRIDE FLEX 566-24-3-500
TAURUS KR721-03
VIBRACOUSTIC VIDF25-13
Product Explanation | Complete Plastic Piston Pallet Quantity : 36 Product Weight : 9,10 Kg.
CODE
A4.4930.CP
(L{J) FIRESTONE — 1T15UR-9 O | SCANIA 1434930
Q | FIRESTONE  WO1 M58 8653 E
i o Artitech
m < Airsprings
E o
(7| >
o w
0 O
3 9
(@) \
a4 g
U =
Product Explanation | Complete Plastic Piston Pallet Quantity : 39 Product Weight :8 Kg.
CODE
A4.4961.CP
g} CONTITECH 4961 N PO3 O | BPW 05.429.43270 — 1
z = « ]
[T} (a4 s | N
[od < A mexizs-egoes
E [a
e & .
1) o
: Es
(@) 3 E
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight : 8,50 Kg.
@ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD AR INLET info@artitechautomotive.com | 03

www.artitechautomotive.com



Artitech . ... COMPLETE PLASTIC PISTON

CODE
A4.4157.CP0O6

U | CONTITECH 4157 N P06 O |scHMITZ 751065 [O7 N
(2) DUNLOP D11B37 E WEWELER US 06316 ?N T
&5 | FIRESTONE  1T15MPW-7 o Artlteﬁb sl |
5 FIRESTONE ~ WO1 M58 8186 E
E GOODYEAR 1R11-764 > 2838
wJ
) PHOENIX 1DK 20 A-1 O
o o
m K
U % \ M12x1.75-6H
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight : 6,60 Kg.
CODE
A4.6122.CP0O6 s
|7
(I.{J) CONTITECH 6122 N P46 O | MERCEDES  A9603200057 @ ’
Q E MERCEDES A 9603206757
Z o | MERCEDES  A9603207021 Artitech
o < Airsprings
E o
(] >
o w
0 O
(72]
) /
m ¥
(@] 8
V|
V|
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight :5,30 Kg.
CODE

A4.6122.CPO7

g} CONTITECH 6122 N P47 O | MERCEDES A 9603200157
@) E MERCEDES A 960 320 6857 Artitech
Z o | MERCEDES A 9603207721
o <
E [a
(T} >
- o
(%)) 1 ﬁ
(72] ;/ l?
8 k3 2 : ’
(@) g b ’
y | ) ’
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight : 5,65 Kg.
@ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD AIR INLET info@artitechautomotive.com | 03

www.artitechautomotive.com



Artitech . ... COMPLETE PLASTIC PISTON

CODE
A4.6238.CP
(L{J) FIRESTONE  1T15MPW-9 O | LECINENA US06288F
(2) FIRESTONE ~ WO1 M58 6238 E
: z
T} >
a 1]
m O M12x1.75-6H (x2)
N
(@)
o . 2
(@) & g r/
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight : 6,40 Kg.
CODE
A4.6251.CP
& | CONTITECH 6705 N PO1 O | SCANIA 1314903 e
Q | FIRESTONE  1T15LP-3 E SCANIA 1402423 \proaseee
& | FIRESTONE  WOTM586251 @2
& | GOODYEAR 1R11-822 g Artitech
w | GOODYEAR 1R11-826 >
o GOODYEAR 1R11-902 L
0 O
%) %& ]
o : :
O R
Product Explanation | Complete Plastic Piston Pallet Quantity : 36 Product Weight : 5 Kg.
CODE
A4.6318.CP
& | FIRESTONE  1T15MPW-9 O | SCHMITZ 0165712 ‘ WIS
O |FIRESTONE WOT1M586318 | & | WEWELER  US 06318 F / ‘
Z = " & |
(] o \!
E g S0t MBx1.25-6H
L L
L > ——
o Ll
1) o
8 Mi2x1.75-6H
2 a
S N —
N
Product Explanation | Complete Plastic Piston Pallet Quantity : 30 Product Weight : 6 Kg.
@ BOLTORSTUD O THREADED HOLE COMBINATION ® STUD AIR INLET info@artitechautomotive.com | 03

www.artitechautomotive.com



Artitech . ... COMPLETE PLASTIC PISTON

CODE
A4.6318.CPO1

(Lﬁ FIRESTONE  1T15MPW-9 O | SCHMITZ 016 512

(2) FIRESTONE ~ WO1 M58 6318 E WEWELER US 06318 F

& <

: <

L >

o Ll

n @)

(7]

@)

a'd

. KRR/
Product Explanation | Complete Plastic Piston Pallet Quantity : 30 Product Weight : 6,71 Kg.
CODE
A4.8608.CP

&) | FIRESTONE  1T17DJ-7 O | MERITOR(ROR) 21229214
QO | FIRESTONE  WO1 M58 8608 Zz MERITOR (ROR) 2122 9626

i SE A

a e

E o

(T} >

o wl

0 o

(72]

O ]

a4 5

O
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight :6,60 Kg.
CODE
A4.8829.CP

g} CONTITECH 9 10-16 P 499 O | VOLVO 3934699

Q | FIRESTONE  1T15M-6 E VOLVO 8079902

& | FRESTONE  WO013588829 @

a

E GOODYEAR 1R12-615 g

i >

o Ll

195} O

(72]

Q 7

m k3

o
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight : 6 Kg.

@ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD AIR INLET info@artitechautomotive.com | 03

www.artitechautomotive.com



Artitech . ... COMPLETE PLASTIC PISTON

CODE
A4.9069.CP

ver vt

& | CONTITECH 910-14 P 312 O | sAvTON 362-9069 : o

(2) FIRESTONE  1T15M-4 E FODEN 1300248000 ‘ 1 i )

w | FIRESTONE  WO1 358 9069 ¢ | HENDRICKSON $13031 & = \\\*)Mwwm
(5 | GOODYEAR 1R12-069 & |LompGUsRD  sC2034 i, 4 :

5 | TAURUS KR 504-9069 S | NETAM / FRUEHAUF / ‘ I 3

(a4 w e i
> O PETERBILT 037112 i | et
(72] PETERBILT 03-02456 4

8 PETERBILT 03-04759

O WATSON & CHALIN -~ AS-0077
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight : 6 Kg.
CODE

A4.9069.CP50

2 +]
& | CONTITECH 4159 N P13 O | HENDRICKSON NA 1817 .
O | CONTITECH 910-19 P 326 E HENDRICKSON 56195 ) meas A | \><M‘°“‘5 “
£ | FRESTONE  1T15M-9 o | LOADGUARD SC2120 Artlteﬁt! ﬁ i
& | FRESTONE  WO1 358 9192 L | NAVISTAR/ FLEETRITE 1681738CT \\\r‘#
b | GOODYEAR 1R12-167 S | NAVISTAR/FLEETRITE 1681740C1 U i
5“) TAURUS 6364 '-(')J SAF HOLLAND 908557086 .
) | TRIANGLE 8326 SAF HOLLAND 90557108 N 7S o
Q SAFHOLLAND 90557135 -
(@) SAF HOLLAND 90557136
WATSON & CHALIN  AS-0038 & AS-0046 Spas
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight : 6 Kg.
CODE
A4.9391.CP [
A/ 71 I 2228:
O | FIRESTONE  1T15L-4 O | FRUEHAUF CF153678 S -
FIRESTONE ~ WO1 358 9391 Z e \
(2) - MERITOR (ROR) / \ s
L 0 | 21223269 / MLF7130 Artitech i
Te ; SCANIA ST10078295 e
Ll
m L 7 P75
s I
Product Explanation | Complete Plastic Piston Pallet Quantity : 28 Product Weight : 5,8 Kg.
@ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD AR INLET info@artitechautomotive.com | 03

www.artitechautomotive.com



Artitech . ... COMPLETE PLASTIC PISTON

CODE
A4.9780.CP

CONTITECH 910 5-16 P 382
FIRESTONE  1T15ZR-6
FIRESTONE W01 358 9780
GOODYEAR 1R12-303
TRIANGLE ~ 8382P

FREIGHTLINER 16-13810-000
FREIGHTLINER 681-320-0017

OEM PART NO

183

CROSS REFERENCES

Product Explanation | Complete Plastic Piston Pallet Quantity : 36 Product Weight : 8,50 Kg.

CODE
A4.27023.CPO1 [ oo

IVECO 41270466

CF GOMMA 1TS 270-23C
206685

15141
3
NG
\
:@;l:‘
ARNCsS
36.50,5

OEM PART NO

CROSS REFERENCES

Midxe-6g

Product Explanation | Complete Plastic Piston Pallet Quantity : 39 Product Weight :6,70 Kg.

CODE
A4.27023.CP0O2

CF GOMMA
1TS 270-23C 206684

& o

IVECO 41270465

OEM PART NO

CROSS REFERENCES

1202

e

Product Explanation | Complete Plastic Piston Pallet Quantity : 3 Product Weight : 6,70 Kg.

@ BOLTORSTUD O THREADED HOLE COMBINATION & STUD AIR INLET info@artitechautomotive.com | 03
www.artitechautomotive.com



Artitech . ... COMPLETE PLASTIC PISTON

CODE
A4.27023.CPO3

CF GOMMA
1TS 270-23C 206686

#2eB1e

IVECO 41270462

MI6x1.5-6H

Product Explanation | Complete Plastic Piston Pallet Quantity : 39 Product Weight : 5,60 Kg.

OEM PART NO

CROSS REFERENCES

CODE
A4.27023.CP0O4

CFGOMMA TS 270-23C 206687
FIRESTONE ~ 1T15LNR-45
FIRESTONE W01 M58 8557
FIRESTONE ~ WO1 M58 8662
PHOENIX 1DF20G-2

VECO 41270463
VECO 500042584

OEM PART NO

CROSS REFERENCES

Ml4x2-6g

Product Explanation | Complete Plastic Piston Pallet Quantity : 39 Product Weight :5,6 Kg.

@ BOLTORSTUD O THREADED HOLE COMBINATION & STUD AIR INLET info@artitechautomotive.com | 03
www.artitechautomotive.com



SERVICE 2.
ASSEMBLY e




Artitech........

CODE
A4.724.501

CROSS REFERENCES

CONTITECH 724

GOODYEAR 1R11-711

Product Explanation

CODE
A4.725.501

CROSS REFERENCES

NP O1

OEM PART NO

Service Assembly

GIGANT 246169
GIGANT 3053

CONTITECH 725

CF GOMMA  1TC 360-45
GOODYEAR 1R14-704

Product Explanation

CODE
A4.726.S01

CROSS REFERENCES

N PO

OEM PART NO

Service Assembly

GIGANT 166217
GIGANT 246149
GIGANT 3653

CONTITECH 726 N PO1

VIBRACOUSTIC
V1DF32C-166253

Product Explanation

OEM PART NO

Service Assembly

03 | info@artitechautomotive.com
www.artitechautomotive.com

GIGANT 246192
GIGANT  3661-726 N

@ BOLT OR STUD

527410

P

533:10

P

6130

SERVICE ASSEMBLY

224810

Artitech

allet Quantity : 45

2300:10

Me2x15-6H

N\ | Mex1.75-6g(x2)

Artitech

Airsprings

Product Weight : 1,40 Kg.

M22x15-6H

Mi2x175-6g (@)

allet Quantity : 45

#300s10

Artltech“‘

Pallet Quantity : 45

O THREADED HOLE

Product Weight :1,80 Kg.

MI2x175-6g(x2>

Me2x15-6H

COMBINATION

Product Weight :1,80 Kg.

& STUD AIR INLET



Artitech........

CODE
A4.752.501

CONTITECH 752 N PO1
VIBRACOUSTIC
V1 DF32-166228

CROSS REFERENCES

OEM PART NO

Product Explanation | Service Assembly

CONTITECH 810 MB/O
FIRESTONE — 1T19L-7
FIRESTONE ~ WO1 M58 7237

CROSS REFERENCES

OEM PART NO

Product Explanation | Service Assembly

GIGANT

247100

CONTITECH 811 MB/0

CF GOMMA 1T19 E-2
PHOENIX 1D 28 B-2
FIRESTONE ~ WO1 M58 6359
TAURUS K 622-26 SM
DUNLOP SP 2066
FIRESTONE ~ 1T19F-11

CROSS REFERENCES

OEM PART NO

Product Explanation | Service Assembly

03 | info@artitechautomotive.com
www.artitechautomotive.com

DAF
EVOBUS
DAF O

0526823
4731029 000
067 306

@ BOLT OR STUD

SERVICE ASSEMBLY

sl

Artitec @T

\ i

71340

MeRx1S-6H

Mi2x175-6g (@)

Pallet Quantity : 45 Product Weight : 1,80 Kg.

265410

90205

Me2x1.5-6H-7H

Artltech“

43520

158,8:05

Pallet Quantity : 45 Product Weight :1,40 Kg.

8265110

Artitech

Slisg

ML0x1.25-60¢x3)

M2x1.5-6H

Pallet Quantity : 45 Product Weight :1,25 Kg.

O THREADED HOLE COMBINATION & STUD AIR INLET




Artitech........

CODE
A4.811.51

CONTITECH 811 M

CROSS REFERENCES

Product Explanation

OEM PART NO

Service Assembly

DAF 0067 306
DAF 0676122

CONTITECH 813 MB/O
FIRESTONE ~ 1T19L-11
FIRESTONE ~ WO1 M58 7238

CROSS REFERENCES

Product Explanation

OEM PART NO

Service Assembly

ROR /.
SAF HOLLAND /.

CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE

836 M
1R12-700
1T17AR-4.5
WO1 M58 0776

CROSS REFERENCES

Product Explanation

03
www.artitechautomotive.com

info@artitechautomotive.com

OEM PART NO

Service Assembly

DAF 0 067 504

@ BOLT OR STUD

SERVICE ASSEMBLY

P265tm

Artitech

Sliso

Pallet Quantity : 45

8265+

M22x1.5-6H

\ | Mext.75-6

Artitech

Airsprings

508210

N

Pallet Quantity : 45

026510

Product Weight : 1,40 Kg.

'\‘ M12x1.75-6g

92862

Artltech'

AN

Pallet Quantity : 45

37510

O THREADED HOLE

Miex1.5-6H

COMBINATION

Product Weight :1,80 Kg.

9258t

ML0X1.5-6Q¢x3)

70005

Q*

Product Weight :1,80 Kg.

& STUD AIR INLET



Artitech........

CODE

A4.836.51

CROSS REFERENCES

Product Explanation

CONTITECH 836 MB

OEM PART NO

Service Assembly

CONTITECH
GOODYEAR
FIRESTONE
FIRESTONE

836 M2
1R12-710
1T17AR-4.5
WO1 M58 0777

VDL BUS 0513 985

DAF 0513982

8265210

SERVICE ASSEMBLY

37510

Pallet Quantity : 45

8265410

Artltevch”

AN

MI0x1.5-6g(x3)

Product Weight : 1,80 Kg.

MI6x1.5-6HOR)

Artitech

Airsprings

OEM PART NO

375t

ML0XL5-6g¢x3)

CROSS REFERENCES

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,40 Kg.

CODE
A4.836.511

OEM PART NO

Artitech

A springs

3750

CROSS REFERENCES

N

Pallet Quantity : 45

Product Weight :1,25 Kg.

Product Explanation | Service Assembly

@ BOLT OR STUD O THREADED HOLE COMBINATION & STUD AIR INLET

03 | info@artitechautomotive.com
www.artitechautomotive.com



03

Artitech........

CONTITECH
DUNLOP
FIRESTONE
GOODYEAR
PHOENIX
TAURUS
FIRESTONE

CROSS REFERENCES

Product Explanation

881 MB
D14U36
1T66F-10.8
1R14-708

1DK 32-1/36
UR836-01T
WO1 M58 8978

OEM PART NO

Service Assembly

BPW 0542940010

CONTITECH
CF GOMMA
GOODYEAR

CROSS REFERENCES

Product Explanation

725 N PO1
1TC 360-45
1R14-704

OEM PART NO

Service Assembly

DAF 0513983
VDL BUS 0513983

CROSS REFERENCES

Product Explanation

CONTITECH 889 M

OEM PART NO

Service Assembly

info@artitechautomotive.com
www.artitechautomotive.com

DAF 1276846

@ BOLT OR STUD

SERVICE ASSEMBLY

8300

Artitech

irsprings

529w

N2« 5-e

Pallet Quantity : 45

8205410

M10x1,5-60(x3)

Product Weight

Artitech

40110

Pallet Quantity : 45

820510

Artitech

Airsprings

465t

Pallet Quantity : 45

O THREADED HOLE

50

Nomzxa7s-eq @

Miex2-6g

11,40 Kg.

50

Product Weight :1,80 Kg.

Miex1,5-6H 1

70%0,5

| esws

5105

3

M10x1,5-6g(x3>

90:0,5

v2e8te

Product Weight :1,80 Kg.

COMBINATION

& STUD AIR INLET

M16x15-6H



03

Artitech........

CONTITECH Q01 MB

OEM PART NO

CROSS REFERENCES

Product Explanation | Service Assembly

CODE
A4.912.S01

CROSS REFERENCES
OEM PART NO

Product Explanation | Service Assembly

CODE
A4.912.502

RENAULT  RVI 5010 052 722
RENAULT  RVI 5010 130 683

OEM PART NO

CROSS REFERENCES

Product Explanation | Service Assembly

info@artitechautomotive.com
www.artitechautomotive.com

@ BOLT OR STUD

SERVICE ASSEMBLY

300410

Artlte;h‘

55810

Pallet Quantity : 45

Artlte_ch‘

60310

Pallet Quantity : 45

8265210

Artitech

60310

Pallet Quantity : 45

Mi6x15-6H

MI6xLS-6H

M2ax15-6g T

Mi2x125-69

Product Weight : 1,80 Kg.

Me2x1S-6H

3\ | MIex175-6gx2>

Product Weight :1,40 Kg.

M22xL5-6H

7 M12x175-600x>

Product Weight :1,25 Kg.

O THREADED HOLE COMBINATION & STUD AIR INLET



03

Artitech........

CONTITECH
CF GOMMA
GOODYEAR
PHOENIX
SPRINGRIDE
TAURUS UR
FIRESTONE
FIRESTONE

CROSS REFERENCES

Product Explanation

240 MB

1TC 300-30 205536
1R11-703

1DK 21K

D11U31
732-01T
1T17D-4.3

WO1 M58 8613"

OEM PART NO

Service Assembly

BPW 0542940910

CONTITECH
CF GOMMA
PHOENIX
SPRINGRIDE
TAURUS UR
FIRESTONE
GOODYEAR
FIRESTONE

CROSS REFERENCES

Product Explanation

941 MB

1TC 300-36 204466
1DK 21

D11U30
730-01T
1T17D-83
1R11-700

WO1 M58 8620

OEM PART NO

Service Assembly

BPW 0542940030

CONTITECH
GOODYEAR
PHOENIX
FIRESTONE
FIRESTONE
TAURUS

CROSS REFERENCES

Product Explanation

942 MB
1R14-700

1DK 32-1
1T66F-135
WO1 M58 8611
UR 837-01

info@artitechautomotive.com
www.artitechautomotive.com

OEM PART NO

Service Assembly

BPW 0542940050

@ BOLT OR STUD

SERVICE ASSEMBLY

9248:10

Artitech

Air springs

445110

Pallet Quantity : 45

Artltech

Pallet Quantity : 45

Artitech

Airsprings

603s0

Pallet Quantity : 45

O THREADED HOLE

M22x15-6H

05

MiBx1.75-6902>

Y

[
D
€

Mi&x2-6H

Product Weight : 1,40 Kg.

Mibx2-6g

Product Weight :1,80 Kg.

COMBINATION

Product Weight :1,80 Kg.

& STUD AIR INLET



03

Artitech........

CROSS REFERENCES

Product Explanation

CROSS REFERENCES

Product Explanation

CONTITECH 951 MB

CF GOMMA
1T 323-40 96864

CODE
A4.2725.S

CROSS REFERENCES

Product Explanation

OEM PART NO

Service Assembly

OEM PART NO

Service Assembly

BPW 05.42940.720

AIRTECH

info@artitechautomotive.com
www.artitechautomotive.com

32725 P

OEM PART NO

Service Assembly

@ BOLT OR STUD

5331w

513%10

SERVICE ASSEMBLY

Artltech“

620110

Pallet Quantity : 45

#254+10

Artitech

Pallet Quantity : 45

$300410

.

O THREADED HOLE

Pallet Quantity : 45

#311:2

€

COMBINATION

y

Mi6x2-6g

Product Weight : 1,80 Kg.

MEEx1.5-6H

\ | Mox125-6g(x2)

Product Weight :1,40 Kg.

MeBxL5-6H

Mi2x1.75-60

Product Weight :1,25 Kg.

& STUD AIR INLET



03

Artitech........

CODE
A4.3053.S

SERVICE ASSEMBLY

VIBRACOUSTIC V1DF 21

CROSS REFERENCES
OEM PART NO

Product Explanation | Service Assembly

CODE
A4.3138.S

GIGANT 3053
GIGANT 00246169

MEEx15-6H

MI2xL.75-6g(x2)

51510

Pallet Quantity : 45 Product Weight : 1,40 Kg.

830040

CONTITECH 3138 N PO1
VIBRACOUSTIC V1DK33-3138
CF GOMMA TC360-59 202560

CROSS REFERENCES
OEM PART NO

Product Explanation | Service Assembly

CODE
A4.3452.501

SAF HOLLAND 4284300400 e N
SAF HOLLAND 3228004800 g %

SAF HOLLAND 3228004900 : |
SAF HOLLAND 3228005000
SAF HOLLAND 3228001900 Artitech
SAF HOLLAND 3228002200
SAF HOLLAND 3228002300
SAF HOLLAND 3138 SERVASSY.

Airsprings

805410

CONTITECH 6620 N PO1
PHOENIX 1DF 25 C-1NP
GOODYEAR 1R12-826
GOODYEAR 1R12-824
GOODYEAR 1R12-857

CROSS REFERENCES
OEM PART NO

Product Explanation | Service Assembly

info@artitechautomotive.com
www.artitechautomotive.com

Pallet Quantity : 45 Product Weight :1,80 Kg.
a
VOLVO 21513 836 @
(MODEL B7RLE/ BYLE/ BORLE/
B9S/ BOT)

3060

Pallet Quantity : 45 Product Weight :1,80 Kg.

@ BOLT OR STUD O THREADED HOLE COMBINATION & STUD AIR INLET



CODE

Artitech........

A4.4004.502

CONTITECH
CF GOMMA
FIRESTONE
GART D278S
GOODYEAR
PHOENIX
SPRINGRIDE
FIRESTONE

4004 N PO2

1T 300-37
1T17BS-6
278.4.451
1R11-705
1DK22 E-8 NP
D12U13

WO1T M58 0919

OEM PART NO

SAF HOLLAND 4.284.3003.01

SERVICE ASSEMBLY

#248+10

Artitech

445510

Me2x1.5-6H

CROSS REFERENCES

Mi6x2-6H

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight : 1,80 Kg.

CODE
A4.4004.505

CONTITECH 4004 N PO5
(WITHOUT PISTON)
AIRTECH 34004-05 P

M22x1.5-6H

SAF 3.229.007.00

N | Mex175-6g(x2)

Artitech

Airsprings

OEM PART NO

445110

CROSS REFERENCES

M12x1,75-6H

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,40 Kg.

CODE
A4.4007.501 -

CONTITECH 4007 N PO1

GIGANT 166271
GIGANT 274104, 3042

M22x1.5-6H

A\ | MIEx175-6g¢x2)

Artltech

42810

OEM PART NO

CROSS REFERENCES

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,25 Kg.

03 | info@artitechautomotive.com @ BOLTORSTUD O THREADED HOLE

www.artitechautomotive.com

COMBINATION & STUD AIR INLET



Artitech........ SERVICE ASSEMBLY

CODE
A4.4022.502

FIRESTONE  1T17BS-6
GART D278S 278.0.452
GOODYEAR 1R11-709
PHOENIX 1DK22 E-9 NP
SPRINGRIDE  D11U40
VIBRACOUSTIC V1DK22 E-9 NP
FIRESTONE ~ WO1M58 0756 su>
CONTITECH 4022 N PO2"

SAF HOLLAND
4.284.3006.00

Artitech <

150
Airsprings #260s0

OEM PART NO

450sm

Mibx2-6H

CROSS REFERENCES

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight : 1,40 Kg.

CODE
A4.4022.505

CONTITECH 4022 N PO5
(WITHOUT PISTON)

PHOENIX 1DK22 E-1
FIRESTONE 1T178S-6
FIRESTONE WO1-M58-8612
GOODYEAR 1R11-781
GOODYEAR 566-22-3-526
VIBRACOUSTIC ~ V1DK 22 E-10
CF GOMMA 17300-37/206585
GART 2781455/D278/S
BLACKTECHRML 75133 CP5
AIRTECH 32619 P

Artitech 7

Airsprings

OEM PART NO

4500

CROSS REFERENCES

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,80 Kg.

CODE
A4.4023.S —

SAF 22903100
SAF 2923V
SERVICE ASSEMBLY

CONTITECH 4023 N PO6
FIRESTONE ~ 1T19L-11
PHOENIX 1D28 B-10
FIRESTONE ~ W01 M58 6335

M2Ex1.5-6H

MI2x1.75-6g(x2>

OEM PART NO

Artitech

Sllsn

210005

CROSS REFERENCES

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,80 Kg.

03 | info@artitechautomotive.com @ BOLTORSTUD O THREADED HOLE COMBINATION & STUD AR INLET
www.artitechautomotive.com



Artitech........

CODE
A4.4028.S

CONTITECH 4028 N SCHMITZ 015323

WEWELER US 04028

CROSS REFERENCES
OEM PART NO

Product Explanation | Service Assembly

CODE
A4.4156.501

CONTITECH 4156 N PO1

CROSS REFERENCES
OEM PART NO

Product Explanation | Service Assembly

CODE
A4.4156.505

CONTITECH 4156 N PO5

OEM PART NO

CROSS REFERENCES

Product Explanation | Service Assembly

03 | info@artitechautomotive.com @ BOLT OR STUD
www.artitechautomotive.com

SERVICE ASSEMBLY

9265410

Artitech

5331w

Pallet Quantity : 45

#2540

Artltech‘

435t

Pallet Quantity : 45

#2540

Artltech

435210

Pallet Quantity : 45

M22x1.5-6H

3\ | MiexL.75-6g

Product Weight : 1,80 Kg.

17418 NPTF

Product Weight :1,40 Kg.

Product Weight :1,25 Kg.

O THREADED HOLE COMBINATION & STUD AIR INLET



Artitech........ SERVICE ASSEMBLY

CODE
A4.4156.506

[7p)
W @)
O =z
'—
: z
o
E Q Ml?xiSiSH \
] > ] Artitech
(7)) e g
(7p]
(@)
[a'd
O
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight : 1,40 Kg.
CODE

A4.4156.512

H @)
($) Z
-
. z
o
L o
L s ;
& . ] Artitech
0 o
(5] ~
®)
o
@)
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,80 Kg.
CODE

A4.4157.S

&) | CONTITECH 4157 N P03 o)

O | (WITHOUT PISTON) Zz \ | eazs o

< | GOODYEAR 1R11-881 = il

4

B | GOODYEAR 566-22-3-521 | g

] b3

[ i . Artitech

(%)} O é Airspring:

2 8

O M12x1.75-6H

O ‘

(@]

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,80 Kg.
03 | info@artitechautomotive.com @ BOLTORSTUD O THREADED HOLE COMBINATION @ STUD AIR INLET

www.artitechautomotive.com



Artitech........ SERVICE ASSEMBLY

CODE
A4.4157.S01

ﬂ O A\ MI2x1.75-6¢
O Z o
=
5 z
a e
E [a
T, >
o L S ArtlteAC ,,,,,,
0 O B
n
O M12x175-6H
a'd
(@)
|,
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight : 1,80 Kg.
CODE
A4.4157.506
) . o v
L
O Z
'—
5 z
o a
] > |
o 2 ] Artlteﬁb
wn O 8
e 8
O
a'd
(@)
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,40 Kg.
CODE

A4.4158.502

fﬁ CONTITECH 4158 N PO2 O | WEWELER  US 06285 |heexs-en
Q | DUNLOP D12B23 E SCHMITZ 750 999

E FIRESTONE — 1T15MPW-9 g::

o

E GOODYEAR 1R12-748 a

w | PHOENIX 1DK 20 B-1 NP > Artitech

O | FRESTONE  WO1 M58 6257 P

%) ®)

n

®)

o

O
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,25 Kg.

03 | info@artitechautomotive.com @ BOLT ORSTUD O THREADED HOLE COMBINATION ® STUD AIR INLET

www.artitechautomotive.com



Artitech........ SERVICE ASSEMBLY

CODE
A4.4159.S01

(Lﬁ CONTITECH 4159 N PO1 (@)
O | CFGOMMA 1T 323-40 E
E GOODYEAR 1R12-113 o
o 5
Ly >
o0 = Artlte:ch
(7p]
(@)
[a'd
o e LA
1/2° 13-UNC
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight : 1,40 Kg.
CODE

A4.4159.505 .

(I.{.l) CONTITECH 4159 N PO5 (@)

O | CFGOMMA 1T 323-40 <
Z = Mi2x175-6g Miax15-6H
w | FIRESTONE  1T15M-9 [a 4 — 2 L

5 FIRESTONE ~ WO1 M58 0736 E N 24

L

DUNLOP D12U04 o

o E Artitech \\/

o GOODYEAR 1R12-761 O E g

) | PHOENIX 1DK21B-5NP 8 2119

o

o

© @8N

@g%

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,80 Kg.
CODE
A4.4159.510

(LI,J’ O = M14x1.5-6H
O zZ pidxl=en
pd = ©r

I-IJ g El M10x1.5-6H

o Mi015-6H

E [a

w > :

o w . Artitech

» O

N

@)

o

(O]
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,80 Kg.

03 | info@artitechautomotive.com @ BOLTORSTUD O THREADED HOLE COMBINATION ® STUD AIR INLET

www.artitechautomotive.com



Artitech........ SERVICE ASSEMBLY

CODE
A4.4159.511

M22x1,5-6H

M10x15-6H(x2)

OEM PART NO

Artitech

S3la10

CROSS REFERENCES

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight : 1,80 Kg.

CODE
A4.4159.512

1/4°-18 NPT

MIOXLS-6H

Artltech'

s31+10

CROSS REFERENCES
OEM PART NO

12x1.75-6H

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,40 Kg.

CODE
A4.4183.501

) | CONTITECH 4183 N2 O | MERCEDES
L
O Z
-
é g 817905
E o
L >
(Tm]
%) O g Art'tq,f,t! LIz
()] &
®)
o
O
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,25 Kg.
03 | info@artitechautomotive.com @ BOLT ORSTUD O THREADED HOLE COMBINATION ® STUD AIR INLET

www.artitechautomotive.com



Artitech........ SERVICE ASSEMBLY

CODE
A4.4185.501
(Lﬁ CONTITECH 4185N O | MERCEDES A 974 328 02071
O Z
l—
& s
5 E B17940,5
L
L 2 ] Artitech K \
o %
(@]
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight : 1,40 Kg.
CODE
A4.4185.502
& | CONTITECH 4185 N o
O Z
E E 817905
o
il a \
L - |
E T . ArtlteCh 10405 EEI-
) @) g ; )
;
O W M16x1.5-6H
m M24x1.5-6g
(@]
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,80 Kg.
CODE

A4.4187.501

(I.I,J’ CONTITECH 4187 N1 O | MERCEDES A 942 320 27 21

QO | CONTITECH 4187 N3 E MERCEDES A 942 320 73 21

E o | MERCEDES A 942 320 19 21

g =L | MERCEDES A 942 320 0757 irss

| >

o ] Artitech

% O 9 A springs I . 10805 .

o g /J d

o k/AU:n,s M16x1,5-6H
U ‘—'% Me4x1,5-6g
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,80 Kg.

03 | info@artitechautomotive.com @ BOLTORSTUD O THREADED HOLE COMBINATION @ STUD AIR INLET

www.artitechautomotive.com



03

Artitech........

CODE

A4.4266.501

CROSS REFERENCES

Product Explanation

CODE

THERE ARE NO CROSS
NUMBERS FOR THIS APPL.

OEM PART NO

Service Assembly

A4.4266.502

IVECO 500042606

CROSS REFERENCES

Product Explanation

CODE

THERE ARE NO CROSS
NUMBERS FOR THIS APPL.

OEM PART NO

Service Assembly

A4.4390.501

IVECO 500042666

CONTITECH
CF GOMMA
DUNLOP
GOODYEAR
PHOENIX

CROSS REFERENCES

Product Explanation

4390 N1

1VSC 285-30 206782
D12U25

9507

TKF 21-1 NP"

OEM PART NO

Service Assembly

info@artitechautomotive.com
www.artitechautomotive.com

MERCEDES A 942 328 0001

@ BOLT OR STUD

328110

SERVICE ASSEMBLY

Pallet Quantity : 45

328:0

ST,

R

2
R
S

R

R
SRR
R

R

N

SN

R
X
X
R

N
3
S

S
R
RN
R
S

3

N

R

X
3
3

o
e
R

Pallet Quantity : 45

2240+10

4450

Artitech

Pallet Quantity : 45

O THREADED HOLE

Product Weight :1,40 Kg.

M7x1-6H

M10x1,50-6q(x2)

Product Weight :1,25 Kg.

M16x15-6H

Meax1.5-6g

B15510,5

Product Weight : 1,40 Kg.

COMBINATION

& STUD AIR INLET



Artitech........ SERVICE ASSEMBLY

CODE
A4.4390.502 iy

CONTITECH 4390 N2

CF GOMMA  1VSC 285-30 206784
DUNLOP D12U26
GOODYEAR 9508

PHOENIX 1KF 21-2 NP

MERCEDES A 942 328 0101

M16x1.5-6H M16x1.5-6H
M24x15-6g =y

Artitech +

OEM PART NO

445t

CROSS REFERENCES

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,80 Kg.

CODE
A4.4391.501

(L{J) CONTITECH 4391 N1 O | MERCEDES A 942 328 0601
O Z
—
. z
5 o M24x15-6g
h z M16x1.5-6H
o ] 5 Artitech
n o :
n
@)
[a'd 9155405
(@]
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,80 Kg.
CODE 8240+10
A4.4391.502
(LI,J’ CONTITECH 4391 N2 O | MERCEDES A 942 328 0701
O z
—
& ~
i 5 s
u_ z ) I=
t & 3 Artitech 5\
n o) g o
n
(@)
6 @#155%0,5
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight : 1,80 Kg.
03 | info@artitechautomotive.com @ BOLTORSTUD O THREADED HOLE COMBINATION @ STUD AIR INLET

www.artitechautomotive.com



Artitech........ SERVICE ASSEMBLY

CODE
A4.4420.S

ﬂ CONTITECH 4420 N O |VOLVO 1076076

O Z
|—

E g M16x1.5-6H

: g

E z MLOx1.5-6g(x2)
Tw} .

A o) Artitech

7 g

O

a'd

(@)

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,40 Kg.

CODE

A4.4705.501

fﬁ CONTITECH 4705 N1 PO1 O | MAN 81436010155

O Z
|_

. z

o

E o

E z Ml2x15-6g
L ) .

7 ) : Artltemcwt)

m n

o

o

O

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,25 Kg.

CODE

A4.4713.S

(Lﬁ CONTITECH 4713 N P04 O | VOLVO 1076595

QO | GOODYEAR 1R12-763 z

=z — #258:2

o AN
™ z X M16x1.5-6H, /’
o w 3 Artitech |
(7)) (@) v o
170}
(@) J
& J
O A
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight : 1,40 Kg.

03 | info@artitechautomotive.com @ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD AIR INLET

www.artitechautomotive.com



Artitech........ SERVICE ASSEMBLY

CODE

A4.4718.S

& | CONTITECH 4718 N P02 O | vOLVO 1079718

O Z

- vasste

. z

a

L [a

L s )

o o 3 Artitech

w O L\r Air springs

(%2}

@)

a'd

(@]

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,80 Kg.
CODE
A4.4725.S e

(L{J) CONTITECH 4725 N PO1 O | GIGANT 247103 7 = K

O Z

l—

& o
- 5

] S ) \ [ istzs-eo
o ] Artitech

” O d

w &

@)

o'

@)

a Wg
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,80 Kg.

CODE
A4.4737.S01

) | CONTITECH 4737 N @)
L
O Z
-
E m #1552
o < !
S n- ‘ M16x1.5-6H
L S \ M84>><<1‘5*69
L : | ‘
o & Artlteﬂgb
0 O ‘ 1
= 1
©) \
m i
(O]
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight : 1,80 Kg.
03 | info@artitechautomotive.com @ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD AIR INLET

www.artitechautomotive.com



Artitech........ SERVICE ASSEMBLY

CODE
A4.4757.501
m CONTITECH 4757 N1 O |MERCEDES A 942 327 0001
O Z
E 'E ?15520,5
o -
o & |
] >3 | s
L : o
t < Artltemstn @
0 O ¢
(72]
O
a'd
(@)
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,40 Kg.
CODE
A4.4757.502
(Lﬁ CONTITECH 4757 N2 O | MERCEDES A 974 328 0001
O Zz MERCEDES A 974 328 0101
zZ —
L [a
E E $155m3
E E N M24x1.5-6g \
2 M16x1.5-6H
n ) : Artltng
(7p]
o : j
a'd
(@]
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,25 Kg.
CODE
A4.4758.S01
[
) | CONTITECH 4758 N (@)
Ll
O Z
Z =
&J n<: 915512
1] o |
s s . ) | Veariv-es
o 5 3 Artitech i
n O Rirsprings T/
n \
Q |
m |
(@]
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight : 1,40 Kg.
03 | info@artitechautomotive.com @ BOLTORSTUD O THREADED HOLE COMBINATION @ STUD AIR INLET

www.artitechautomotive.com



Artitech........ SERVICE ASSEMBLY

CODE
A4.4759.S01
B265£10
g} CONTITECH 4759 N O | MERCEDES A 942 327 0401
O Z
=

. 2

a 2

] n- ?155:

b > ‘ ML6x1.5-6H
o Ll .

- o) E Artitech |

@ 3 |

@) / \‘/

©
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,80 Kg.
CODE
A4.4759.S02

@265¢10
o (@]
O Z
l—

& e

% E o155

L ‘ L5
= o E |\
n @) 2 ¢

(7] ” ‘

o |

o' !

(@]

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,80 Kg.
CODE

A4.4762.5

i (@]
U Z @282
—
. 2
a e
L [a
L s .
o o g Artlteﬁh
0 O
n
(@)
o'
(@]
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight : 1,80 Kg.
03 | info@artitechautomotive.com @ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD AIR INLET

www.artitechautomotive.com



Artitech........

SERVICE ASSEMBLY

P265x10

ﬂ O | DAF 1384 273
o = | SAF 22280002.00
= — | SAF 2228210200
w Q: SAF 2228220200 M22x15-6H
o < | SAF 22282402.00 \
i Q| SAF 22282602.00 N
T s | sr 2220000200 (
L 2 | RENAULT 5000.452939 Artitech
O | WEWELER 21208082 g
[ WEWELER US 00622
RN WEWELER US 07337
®) WEWELER US 87413
o WEWELER US 874131
O SCANIA 1723502
ROR 2120 8082
ROR 21215632
HENDRICKSON 506 243
HENDRICKSON 506 243 / 01
HENDRICKSON 785 168
GRANNING 15635
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,40 Kg.
CODE
A4.4813.S
& | FIRESTONE  1T19L-11 O | ROR 1107674
O | FIRESTONE  WOTM580918 | & | SR e
E g M14x15-6H
: 3
! >
L E ‘
% o i | +Artitech
n
@]
x
O

Product Weight :1,25 Kg.

Product Explanation | Service Assembly Pallet Quantity : 45

CODE
A4.4823.S

M22x15-6H

3\ | Mext.75-600@>

Artitech

Airsprings

52840

OEM PART NO

Mi6x1.5-6H

CROSS REFERENCES

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight : 1,40 Kg.

03 | info@artitechautomotive.com @ BOLTORSTUD O THREADED HOLE COMBINATION @ STUD AR INLET

www.artitechautomotive.com



Artitech........

CODE

A4.4838.S01

CROSS REFERENCES

Product Explanation

CODE

A4.4881.502

OEM PART NO

Service Assembly

Product Explanation

CODE

A4.4882.S502

Service Assembly

SERVICE ASSEMBLY

B26 5110

59010

Pallet Quantity : 45

Artltech“

Pallet Quantity : 45

8155105

M24x15-6
Miex15-6H

Product Weight :1,80 Kg.

e

¢ | CONTITECH 4881 N P02 O | BPW 05429 41010
O | DUNLOP  D14U37 E SCHMITZ 750 570

&5 | FRESTONE  1T66F-70 SE

5 | GOODYEAR 1R14-701 a

b | PHOENIX  1DK 32K > .
& | FRESTONE  WO1M58 8601 — Artitech
w0 @)
9N

©)

x

O

Product Weight :1,80 Kg.

(Lﬁ CONTITECH 4882 N1 PO1 O | MAN 81436010151
Q | GOODYEAR 1R10-701 4 sesare
Z |_ 70205
w ﬂ: —t M16x1.5-6H
o <
05 > . J g
o T Artitech ]
n o # ;
m M12x1.5-6g
o /
o
(@)
. E—

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight : 1,80 Kg.

info@artitechautomotive.com @ BOLT OR STUD

www.artitechautomotive.com

O THREADED HOLE COMBINATION & STUD AIR INLET

03



03

Artitech........

CODE

A4.4883.502

CROSS REFERENCES

Product Explanation

CODE

CONTITECH 4883 N1PO1

OEM PART NO

Service Assembly

A4.4884.501

MAN 81436010153

CROSS REFERENCES

Product Explanation

CODE

CONTITECH 4884 N1 PO1

OEM PART NO

Service Assembly

A4.4884.502

MAN 81436010152
MAN 81436010174
MAN 81436010175

CROSS REFERENCES

Product Explanation

CONTITECH 4884 N1 P02

OEM PART NO

Service Assembly

info@artitechautomotive.com
www.artitechautomotive.com

MAN 81436010173

@ BOLT OR STUD

SERVICE ASSEMBLY

8240210

Artitech

51810

Pallet Quantity : 45

500210

Pallet Quantity : 45

0240210

Mi2x15-6g

B4105 Miex1.3-6H
Vi

Product Weight :1,40 Kg.

825842

Y\ | M2x15-6g

>
60405 T

8425

7/ \ML6x1.5-6H
-/

Product Weight :1,25 Kg.

Artitech

M16x15-6H(x2)

500110

A

Pallet Quantity : 45

O THREADED HOLE

COMBINATION

7 _Mi2xL5-6g

Product Weight : 1,40 Kg.

& STUD AIR INLET



03

Artitech........

CODE
A4.4884.S03

CONTITECH 4884 N1PO3

OEM PART NO

CROSS REFERENCES

Product Explanation | Service Assembly

CODE
A4.4885.501

MAN  81.43601.0000

CONTITECH 4885 N1 PO1

CROSS REFERENCES
OEM PART NO

Product Explanation | Service Assembly

CODE
A4.4911.502

MAN 81436010160
MAN 8143601 6071

CONTITECH 4911 N PO2
GOODYEAR 1R13-715

CROSS REFERENCES
OEM PART NO

Product Explanation | Service Assembly

info@artitechautomotive.com
www.artitechautomotive.com

@ BOLT OR STUD

SERVICE ASSEMBLY

24010

500410

Pallet Quantity : 45

413

Artltech‘

Pallet Quantity : 45

Artitech

543s10

Pallet Quantity : 45

Product Weight :1,80 Kg.

MI6x15-6H

Mi2x15-gq

0N [ 8

9130804

Product Weight :1,80 Kg.

PR

Product Weight : 1,80 Kg.

O THREADED HOLE COMBINATION & STUD AIR INLET



Artitech........ SERVICE ASSEMBLY

CODE
A4.4913.S04

& | CONTITECH 4913 N PO4 O | SCANIA 1379393

O | DUNLOP 1D14U42 Z

Z —

i | FIRESTONE  1T19L-14 o

& | GOODYEAR 1R14-755 I

L /
L3 | PHOENIX 1D 28 H-16 NP >3 o | s
O | FRESTONE  WOT095 0365 = Art'teﬁb ;
) @) 4

%)

(@)

x

(©)

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,40 Kg.
CODE

A4.4913.510

(92]
& ®)
O Z
|_
5 g #2862
o
L o M6 5-6H
LL s N
o i 4| +Artitech
) (@) g e
7 ool ]
o
o
O
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,25 Kg.
CODE

A4.4916.501

g} CONTITECH 4916 N1 PO1 O | MAN 81436010158
O Z
| 9273,5t2

2 z

o

L [a

L z : Mi6x1.5-6H

L 2 i Artitech

n ) : T

n

@)

o

(O]

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight : 1,40 Kg.
03 | info@artitechautomotive.com @ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD AIR INLET

www.artitechautomotive.com



Artitech........

CODE
A4.4929.S

CROSS REFERENCES

Product Explanation

CONTITECH 4929 N POTRT
34929 P

AIRTECH

CODE
A4.4940.502

CONTITECH 4940 N PO2

CROSS REFERENCES

Product Explanation

OEM PART NO

Service Assembly

NEWAY 20557009

CODE
A4.4941.S02

CROSS REFERENCES

Product Explanation

03 | info@artitechautomotive.com
www.artitechautomotive.com

OEM PART NO

Service Assembly

BPW 0542941560
BPW TYPE 30K

CONTITECH

4941 N PO2

OEM PART NO

Service Assembly

BPW 0542941250

@ BOLT OR STUD

SERVICE ASSEMBLY

B238+10

Artitech

Airsprings

36310

Pallet Quantity : 45

@248+

M24x15-60 X
MIBX15-6H \

Product Weight :1,80 Kg.

Artltec_h“

425s10

Pallet Quantity : 45

9248110

Artitech’

Airsprings

523110

Pallet Quantity : 45

O THREADED HOLE

MiEx1.75-69

Product Weight :1,80 Kg.

M18xL5-6g

MI2x175-6g

Product Weight : 1,80 Kg.

COMBINATION

& STUD AIR INLET



Artitech........ SERVICE ASSEMBLY

CODE
A4.4942.502

ﬂ CONTITECH 4942 N PO2 O |BPW 0542941090 iezassn
O Zz \
= \ iz rs-ggoe>
5 x |
[a g
Ll [a
L >
o G Artltgsb
0 O
e i
(@) i
a4
U Miex2-6g
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,40 Kg.
CODE

A4.4960.502

(I.{J) CONTITECH 4960 N PO2 O | BPW 0542941770
O Z
l—
3 z
: g
Ly >
w
o o) Artltggb
8 g
01 M16x2-6g
U ,,,,,
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,25 Kg.
CODE

A4.4961.502 -

&) | CONTITECH 4961 N PO2 O | BPW 0542942040 S
O Z \ | M2x175-6g0@>
l—

3 Z

o

L [a

L s ;

o i Artitech

n O G Airsprings

n

@)

a4

(@]

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight : 1,40 Kg.
03 | info@artitechautomotive.com @ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD AIR INLET

www.artitechautomotive.com



Artitech........ SERVICE ASSEMBLY

CODE
A4.4962.502

U | CONTITECH 4962 N PO2 O | BPW 542942030 -

U Z M22xL5-6H
Z = \

1] o \ mie175-69
o < |

L [a ]y

L >

o i Artitech

n O i A springs

(%2 bt

(@)

a'd

(@)

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,80 Kg.
CODE

A4.4963.501 L e

(I.{J) CONTITECH 4963 N PO1 O | BPW 0542942540
O Z
l—
g 2
a e
E [a
L > ‘
o i |1 +Artitech
(9] O é Airsprings
(%2}
@)
a'd
(@]
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,80 Kg.
CODE
A4.6050.5
| |
& | CFGOMMA 1TC 360-50 O | KASSBOHRER 4 731043 000 e
Q | PHOENIX 1DK 32 E-4 E KASSBOHRER 4 731043 100 13 e
£ | GOODYEAR 1R14-809 o
o
E [a
T} >
o Ll
%) @)
(7]
@)
a'd
O
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight : 1,80 Kg.
03 | info@artitechautomotive.com @ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD AR INLET

www.artitechautomotive.com



Artitech........ SERVICE ASSEMBLY

w311

O |CF GOMMA 1TC 360-55 O | KASSBOHRER 4 731044 100
O Z
- - Mi2xt75-6gxt)

5 z

o

L o

b >

= & % Art'tgﬁb

9 @)

(7p)

O Ma0x2,5-6g

[a'd

(©)

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,40 Kg.
CODE
A4.6199.S

(I.{J’ PHOENIX 1DF 23 C-1 O | SCANIA 1386199

QO |ARTECH 36199 P Zz e

Z = ] TN M2k S-6H
Ly > 1)

L 2 ‘ j

N o) Artlteﬁ!}

(7]

(@)

U #2282
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,25 Kg.
CODE
A4.6200.5

(LfJ) PHOENIX 1DF 23 D-1 O | SCANIA 1386200

QO | AIRTECH 36200 P =

zZ -

o <

a

L [a

L s )

o e ] Artltemgh

(7)) @) 8

N

(@)

o

(@]
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight : 1,40 Kg.

03 | info@artitechautomotive.com @ BOLTORSTUD O THREADED HOLE COMBINATION @ STUD AIR INLET

www.artitechautomotive.com



Artitech........ SERVICE ASSEMBLY

CODE

A4.6251.S

g} FIRESTONE ~ WO1-M58-6251 O | SCANIA 1402423

O | (WITHOUT PISTON) £ | scaNim 1314903
5 GOODYEAR 1R11-826 | GRANNING 15619

5 AIRTECH 36251 E WABCO 571811008 O

m, >

o L .

9 ®) 2

w ™

O Mi2xL.75-6H
o'

(O]

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,80 Kg.
CODE

A4.6318.S

(L{J, FIRESTONE  1T15MPW-9 O | SCHMITZ 016 512 v228s2
O | FIRESTONE  WO1-M58-6318 E WEWELER  US 06318F W
E AIRTECH 36318 P g:ﬁ
o
E o
m z . ,’ MBx1.25-6H(x2)
[4 i Artitech
(7)) @) Z N
m |
(@)
a4
(@]
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,80 Kg.
CODE
A4.7803.S
(I.I’J’ CONTITECH 7803 N O | voLvo 20 427 803
O Z
-
5 2
o
E o 022812
L > ol
o Ll /,/ﬁm:; 47207
7 o Artitech
O E Airsprings !
[od JR =
U Y/
Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight : 1,80 Kg.
03 | info@artitechautomotive.com @ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD AIR INLET

www.artitechautomotive.com



Artitech........

SERVICE ASSEMBLY

CODE
A4.8185.S

FIRESTONE  1T15MPW-9
FIRESTONE ~ WO1 M58 6257

OEM PART NO

CROSS REFERENCES

Product Explanation | Service Assembly

9254110

MEEx15-6H

@MIOXLS-6g

Arﬂtech

503110

Pallet Quantity : 45 Product Weight :1,40 Kg.

9254im

FIRESTONE  1T15MPW-7
FIRESTONE =~ WO1 M58 8194

CROSS REFERENCES
OEM PART NO

Product Explanation | Service Assembly

ME2x15-6H

JNM10x1.5-60(x2)

458110

Pallet Quantity : 45 Product Weight :1,25 Kg.

03

CODE
A4.40301.S

#2480

PHOENIX 1DF 23 B-1
FIRESTONE  1T15VR-3
FIRESTONE ~ WO01-515-8192
GOODYEAR 1R13-746
AIRTECH 330301

CROSS REFERENCES
OEM PART NO

Product Explanation | Service Assembly

info@artitechautomotive.com
www.artitechautomotive.com

SCANIA
SCANIA
SCANIA

4 b
1440301

488265
470920

31340
>
-
[y
~

.|
HIs}

Pallet Quantity : 45 Product Weight : 1,40 Kg.

@ BOLT OR STUD O THREADED HOLE COMBINATION & STUD AIR INLET



Artitech........ SERVICE ASSEMBLY

CODE

A4.40303.S

gj AIRTECH 331114 P O | sCANIA 488263

(Z) E SCANIA 1440303

[T n{: SCANIA 1475106

5 o | SCANIA 1521114

L

| s ]
L 2 : Artitech
) ®) ?

(72]

(@)

a4

O

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,80 Kg.
CODE

A4.40304.5

tﬁ PHOENIX 1DF 20 A-1 O | MERCEDES 1440304

O | FIRESTONE  1T15LR-4 E MERCEDES 470922

E FIRESTONE ~ WO0O1-095-0424 o | ROR MLF7142

& | GOODYEAR 1R11-829 g

L | AIRTECH 3303014 P >

o (I i Artitech

(92} O 8 T

(72] Q

(@)

[a'e

(@]

B228+2

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight :1,80 Kg.
CODE
A404o30505 B235+10

(I.{J) CONTITECH 1DF 20 A-2 O | SCANIA 1440305

O | FIRESTONE 1T15LR-4 E SCANIA 792680

E FIRESTONE WO01-095-0481 oz | SCANIA 1440859

5 GOODYEAR TR11-830 g ROR MLF7143

L

GOODYEAR b566-22-3-545 .

o 2 Artitech

o VIBRACOUSTIC V 1DF 20C-2 e) g g

o) | AIRTECH 330305 P :

(@)

[a'd

U #2282

Product Explanation | Service Assembly Pallet Quantity : 45 Product Weight : 1,80 Kg.

03 | info@artitechautomotive.com @ BOLTORSTUD O THREADED HOLE COMBINATION @ STUD AIR INLET

www.artitechautomotive.com



BELLOWS
Air Springs




Artitech’.. .o BELLOWS AIR SPRINGS

CODE $210
A4.644.R
(Lﬁ CONTITECH 644 N O | BREDAMENARNI 199196
QO | FIRESTONE  1R1A 390295 E DAEWOO 967 08659
E FIRESTONE ~ WO1 0950118 oZ | DAF 0689677
5 GOODYEAR 8017 E EVOBUS A 000 3270101
T
PHOENIX 1E 21 > | EVOBUS A 000 3270201 s
[T :
g) 8 EVOBUS A 307 328 0001 J Artltencn:b
(7)) KASSBOHRER 4771143000
8 KASSBOHRER 4771170000
(@) MAN 81436010017
MERCEDES (BRAZIL) A 364 327 7001
PREVOST 63-0187
Product Explanation | Bellows Air Springs Pallet Quantity : 45 Product Weight : 1,40 Kg.
?150.8
A4.661.R
f_ﬁ CONTITECH 661N O | veco 41822247 “
Q | FIRESTONE  1R1C 390310 Z | VECO 4746733 s
E FIRESTONE ~ WO1 095 0021 E KASSBOHRER 4731012 000
c | GOODYEAR 8018 <L | KASSBOHRER 4731031000
E PHOENIX 1E 25 O | KASSBOHRER 4731042 000
Ll | TAURUS B 114 > | MERCEDES A 4103270001 = Artitech
a L o
) [®) NEOPLAN 100110100 M oring
N NEOPLAN 100112 250
(@) NEOPLAN 1021002 00
o VOLVO 1137888
(@]
:
?150.8
Product Explanation | Bellows Air Springs Pallet Quantity : 45 Product Weight :1,80 Kg.
CODE 0240£10
A4.713.R e
tﬁ CONTITECH 713N O | VOLVO 1622 116 ’ g‘ \
Q | GOODYEAR 9066 Z | VOLVO 6797 169
Z | PHOENIX 1TF21D =
& <
a e
E [a
L > d 5
o i 3 <4 +Artitech
0 o 5
n
(@)
o'
(O]
i
0130.8:0.4
Product Explanation | Bellows Air Springs Pallet Quantity : 45 Product Weight :1,80 Kg.
03 | info@artitechautomotive.com @ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD AIR INLET

www.artitechautomotive.com



Artitech’.. .o BELLOWS AIR SPRINGS

CODE 024010
A4 720 R 2130.8+0.4
L[] L]
(u,J) CFGOMMA  1SC 290-30 88802 O | BPW 02 200 24 100
Q | CONTITECH 720N Z | DENNIS 686 1/2
Z | FIRESTONE  1R2A 460295 E MAN 81436010033
EI:J FIRESTONE ~ WO1095 0195 < | MAN 81436010036
E GOODYEAR 9008 Q. | MAN 81436010037
| PHOENIX TF21 > | MERCEDES A 387 328 0101 o
o TAURUS B152 "(')J NEOPLAN 1001123 00 % Artlteac,h
. VOLVO 1590 136 i
(@) VOLVO 1622 115
oo VOLVO 1629193 .
(O]
0130.8+0.4
Product Explanation | Bellows Air Springs Pallet Quantity : 45 Product Weight : 1,80 Kg.
CODE 0210£10
A4.782.R 01308404
I
ﬂ CF GOMMA 1S 285-25 97555 O | IRISBUS 5000 324 098 ol
O | CONTITECH 782 Z | RISBUS 5000 954 176 4
E DUNLOP FR  D11S02 'E IVECO 4703904 -
o | FIRESTONE  1R1A 415285 < | IVECO 4703972
E FIRESTONE ~ W01 095 0197 O | \VECOBUS 500324 098
W | GOODYEAR 9013 > | MERCEDES A 3823277201 = Artitech
o Ll 4 ec
TAURUS B 124 [®) RENAULT RVl 5000 954 176 = Airspings
(9] <
(%2}
O
o
O
—
Product Explanation | Bellows Air Springs Pallet Quantity : 45 Product Weight :1,40 Kg.
CODE
A4.817.R
(Iﬁ CF GOMMA 15C260-30 97613 O | BREDAMENARINI 252933
() | CONTITECH 817N Z | RISBUS 5000768641
Z | GART C289/BS 2890301 'E IRISBUS 5000805998
o <C | RISBUS 5810805998
L Q. | RENAULTRVI 5810111355
L
(T} >
o o) 3 Artitech
A <
O ™
o
(@]
Product Explanation | Bellows Air Springs Pallet Quantity : 45 Product Weight :1,25 Kg.
mfo@artitecha utomotive.com @ BOLT OR STUD O THREADED HOLE COMBINATION & STUD AIR INLET
03

www.artitechautomotive.com



Artitech . ... BELLOWS AIR SPRINGS

CODE
A4.876.R
+
& | CONTITECH 876N O | IvECO 41022 620 —
O | GOODYEAR 8314 Z | 41022 620 O
z 'n_: IVECO 8139068
Ll
o <C | 8139068
L B | RENAULT RVI 5000 296 816 »
L
(T > | 5000 296 816 4 Art'teﬁb
[a 4 (1] o
2 S :
(@)
a4
(@)
+
Product Explanation | Bellows Air Springs Pallet Quantity : 45 Product Weight :2 Kg.
CODE ?210£10
A4.882.R 21308504
&) | CONTITECH 882N O | MAN 81436010065 =
Q | PHOENIX 1F16 Z | MAN 81436010067 o
Z | FIRESTONE 1RAR445-240 E | MAN 81436010070 )
& | FIRESTONE WO01-095-0435 <C | MAN 81436010092
L | GOODYEAR 9048 o | MAN 81436010099 ‘
W | GOODYEAR  556-03-9048 > | MAN 81436010103 Artitech’
0 | VBRACOUSTIC VIF16 '-(')J MAN 81436010121 .
B | creomMMa 15025028 MAN 81436010132 &
O | CFGOMMA 97042 &
6 GART C289/D
GART 2890400
BLACKTECH  RL9993
AIRTECH "3882" 1
™)
Product Explanation | Bellows Air Springs Pallet Quantity : 45 Product Weight : 1,80 Kg.
CODE
A4.883.R _—
& | CFGOMMA  15C 250-29 204250 O | MAN 81436010071 ( X \
QO | CONTITECH 883N1 Z | MAN 81 43601 0072 pE
E FIRESTONE  1R4R 465 260 'n_: MAN 81436010110 -
oc | FIRESTONE  WO010950435 < | MAN 81436010128
W | GOODYEAR 9012 (S RVIAN 8143601 0132
L | PHOENX  1F21C-2 > | VOLVO 1082085 4 Artitech
W vovo 1082130 W ritec
(9p] O o
(5] <
(@)
a4
(@)
QU
=+l
Iy
O
[2130.8+0.4]
Product Explanation | Bellows Air Springs Pallet Quantity : 45 Product Weight : 2,50 Kg.
03 mfo@artitechautomotive.oom @ BOLT OR STUD O THREADED HOLE COMBINATION & STUD AIR INLET

www.artitechautomotive.com



Artitech . ... BELLOWS AIR SPRINGS

A4.916.R

gj CONTITECH 916 N1 O | MAN 81436010095
() | DUNLOPFR D12S05 Z | MAN 81436010097
Z | FIRESTONE  2R2A 460 295 'E MAN 81436010100
& | FIRESTONE  WO010950555 | < | MAN 81436010102
E GOODYEAR 9015 Qo | MAN 81436010105 J
Ial:J PHOENIX 1F 21 C-5 E MAN 81436010126 g ArtlteCh'
TAURUS B 154 o MAN 81436010138 Hirprings
% OPTARE L 5820005
@) TEMSA /.
6 ZF SACHS 0017 700 00160
Product Explanation | Bellows Air Springs Pallet Quantity : 45 Product Weight :2 Kg.
CODE
A4.1888.R
3243110
©150,8+0,4
(L{J) CONTITECH 1888 O | MAN 81436010163 |
O Z | SACHS 00 1748 4571 100 N
Z = A
L ﬂ<ﬂ Jaa)
T g
Ly >
[} d .
0 ) 4 | +Artitech
7)) S g
(@)
a4
(@)
Product Explanation | Bellows Air Springs Pallet Quantity : 45 Product Weight : 2 Kg.
CODE
A4.9208.R
®300£10
o (@) 91981404
O Z
l—
g z
o
E o
L
o " S Artitech
& O g
(72]
(@)
[a' 4
O
Product Explanation | Bellows Air Springs Pallet Quantity : 33 Product Weight : 2,3 Kg.
03 | info@artitechautomotive.com @ BOLTORSTUD O THREADED HOLE COMBINATION ~ ® STUD AIR INLET

www.artitechautomotive.com



ALUMINUM

COMPLETE 4
Air Springs £ - % -




Artitech ....... ALUMINUM COMPLETE AIR SPRINGS

CODE
A4.4159.CALO6

(I.I,J) CONTITECH 4159 N PO3 O | SAMRO H2500425 =

O | PHOENIX 1DK23L-27 &

Z | VIBRACOUSTIC V1DK23L-40 'E

o | GART 2784511/1 < p

W | GOODYEAR  1R12-701 Q. ’\Q
w z M20x15-6g
o L

%) O =

(%2]

@)

o

©) fi
Product Explanation | Aluminum Complete Air Springs Pallet Quantity : 28 Product Weight : 8,3 Kg.
CODE
A4.4159.CALO7

& | FIRESTONE  1T15M-9 O | SCANIA 1314905 T Twasn
Q | FIRESTONE ~ WO1 M58 7308 z _ EAN

Z | GOODYEAR 1R12-713 = S
(| 1

o < |

il aQ i

L [

Ll z 157

o L

) ®) { % §

w ! M12x1.75-6q(x4)
o] B ;

5 ;i k¢ g )/

8200
8260s
Product Explanation | Aluminum Complete Air Springs Pallet Quantity : 28 Product Weight :9 Kg.
03 | info@artitechautomotive.com @ BOLTORSTUD O THREADED HOLE COMBINATION ® STUD AR INLET

www.artitechautomotive.com



Air springs

TEL : +90 (224) 441 20 82

Kayapa Organize Sanayi Bolgesi
Menekse Caddesi No: 10
NilGfer - Bursa / Turkiye

info@artitechautomotive.com

www.artitechautomotive.com



